C3-13-146

Contract Number CM2045 Bid Number NC13-040

### **CONTRACT FOR MEDICAL SUPPLIES**

THIS CONTRACT entered into this <u>24th</u> day of <u>March</u>, 2014, by and between the **BOARD OF COUNTY COMMISSIONERS OF NASSAU COUNTY**, **FLORIDA**, a political subdivision of the State of Florida, hereinafter referred to as "County", and **SOUTHEASTERN EMERGENCY EQUIPMENT**, P.O. Box 1097, Youngsville, NC 27596, hereinafter referred to as "Vendor".

WHEREAS, the Board of County Commissioners of Nassau County, Florida opened sealed bids for Medical Supplies, Bid Number NC13-040, on September 26, 2013 at 10:00 a.m.; and

WHEREAS, the Fire Rescue Department determined that Southeastern Emergency Equipment was the lowest, most responsive and responsible bidder for the bid items as set forth in Exhibit "A"; and

NOW, THEREFORE, in consideration of the terms and conditions herein set forth, the County and the Vendor agree as follows:

### SECTION 1. Description of Services to be Provided

The County does hereby retain the Vendor to furnish materials or services as further described in the Scope of Services attached hereto as Exhibit "B" and made a part hereof. Required materials and service shall be specifically enumerated, described and depicted in the Purchase orders authorizing performance of the specific task. This Contract standing alone does not authorize the performance of any work or require the County to place any orders for work.

### SECTION 2. Receiving/Payment/Invoicing

No payment will be made for materials ordered without proper purchase order authorization. The County shall pay the vendor within forty-five (45) calendar days of receipt of invoice, pursuant to and in accordance with the promulgations set forth by the State of Florida's Prompt Payment Act. (Florida Statutes Section 218.70). Payment shall not be made until materials, goods or services have been received, inspected and accepted by the County in the quality and quantity ordered. Payment will be accomplished by submission of an invoice, in duplicate, with the Purchase Order number referenced thereon and mailed to the address set forth in the Purchase Order. Payment in advance of receipt of goods or services by Nassau County cannot be made. The invoice submitted shall be in sufficient detail as to item, quantity and price in order for the County to verify compliance with the awarded bid.

## SECTION 3. Acceptance of Goods/Services

Receipt of goods/services shall <u>not</u> constitute acceptance. Final acceptance and authorization of payment shall be given only after a thorough inspection indicates that the product/performance meets bid specifications and conditions. Should the products/services differ in any respect from specifications, payment will be withheld until such time as the supplier takes necessary corrective action. If the proposed corrective action is not acceptable to the County, the County Manager's Office may authorize the recipient to refuse final acceptance of the goods/services. Should a representative of the County agree to accept the goods/services on condition that the Vendor will correct his performance within a stipulated time period, then payment will be withheld until the services are performed as specified.

## SECTION 4. Inspection/Acceptance Title

Inspection and acceptance will be at destination unless otherwise stipulated. Title and risk of loss or damage to all items shall be the responsibility of the Vendor until accepted by the using department of Nassau County, unless loss or damage results from negligence by Nassau County or it's using Department.

## SECTION 5. Firm Prices

Prices for goods and services covered in the specifications shall be firm; net delivered to the ordering agency, **F.O.B. DESTINATION**, vendor paying all delivery costs and shall remain firm for the period of this Contract. No additional fees or charges shall be accepted.

### **SECTION 6. Fund Availability**

This Contract is deemed effective only to the extent that appropriations are available. Pursuant to Florida Statutes all appropriations lapse at the end of the Fiscal Year. Multi-year awards shall be adequately funded but the County reserves the right not to appropriate for an ongoing procurement if it is deemed in its best interest.

### **SECTION 7. Permits/Licenses/Fees**

Any permits, licenses or fees required for this service will be the responsibility of the Vendor unless otherwise stated.

## SECTION 8. Taxes

The County is tax exempt. As such, the County will not pay any Federal Excise or State of Florida Sales Tax. The Vendor will refrain from including taxes in any billing.

## SECTION 9. Laws Governing this Contract

This Contract shall be consistent with, and be governed by, the Ordinances of Nassau County, the whole law of the State of Florida, both procedural and substantive, and applicable federal statutes, rules and regulations. Any and all litigation arising under this Contract shall be brought in Nassau County, Florida.

## SECTION 10. Changes

The County reserves the right to order, in writing, changes in the work within the scope of the contract, such as change in quantity or delivery schedule. The Vendor has the right to request an equitable price adjustment in cases where changes to the contract under the authority of this clause result in increased costs to the Vendor.

## **SECTION 11. Modifications**

In addition to modifications made under the changes clause, this Contract may be modified within the scope of the contract upon the written and mutual consent of both parties, and approval by appropriate legal bodies in the County.

## SECTION 12. Assignment & Subcontracting

The Vendor will not be permitted to assign its contract with the County, or to subcontract any of the work requirements to be performed without obtaining prior written approval by the County.

## SECTION 13. Severability

If any section, subsection, sentence, clause, phrase, or portion of this Contract is, for any reason, held invalid, unconstitutional, or unenforceable by any Court of Competent Jurisdiction, such portion shall be deemed as a separate, distinct, and independent provision, and such holding shall not affect the validity of the remaining portions thereof.

## **SECTION 14. Termination for Default**

The performance of the Contract may be terminated by the County in accordance with this clause, in whole or in part, in writing, whenever the County shall determine that the Vendor has failed to meet performance requirement(s) of the Contract.

## **SECTION 15. Termination for Convenience**

The County reserves the right to terminate the Contract in whole or part by giving the vendor written notice at least thirty (30) days prior to the effective date of the termination. Upon receipt of termination from the County, the Vendor shall only provide those services specifically approved or directed by the County. All other rights and duties of the parties under the Contract shall continue during such notice period, and the County shall continue to be responsible to the vendor for the payment of any obligations to the extent such responsibility has not been excused by breach of default of the Vendor.

## **SECTION 16. Force Majeure**

Neither party of this Contract shall be liable to the other for any cost or damages if the failure to perform the Contract arises out of causes beyond the control and without the fault or negligence of the parties. Such causes may include, but are not restricted to, acts of nature, fires, quarantine restriction, strikes and freight embargoes. In all cases, the failure to perform must be totally beyond the control and without any fault or negligence of the party.

### **SECTION 17. Access and Audits**

The Vendor shall maintain adequate records to justify all charges, expenses, and costs incurred in performing the Work for at least three (3) years after completion of this Contract. The County and the Clerk of Courts shall have access to such books, records, and documents as required in this Section for the purpose of inspection or audit during normal business hours, at the County's or the clerk's cost, upon five (5) days' written notice.

### SECTION 18. Vendor Responsibilities

The Vendor will provide the services agreed upon in a timely and professional manner in accordance with specifications.

## **SECTION 19. Public Emergencies**

The Vendor shall agree before, during, and after a public emergency, disaster, hurricane, tornado, flood, or other acts of nature that the County shall require a "First Priority" for goods and services. It is vital and imperative that the majority of citizens are protected from any emergency situation that threatens public health and safety, as determined by the County. The Vendor agrees to rent/sell/lease all goods and services to the county or governmental entities on a "first priority" basis. The County expects to pay a fair and reasonable price for all products and services rendered or contracted in the event of a disaster, emergency, hurricane, tornado or other acts of nature.

4

## SECTION 20. Period of Contract/Option to Extend or Renew

This Contract shall begin on the date of execution of this contract and terminate one year from the date of execution. The performance period of this Contract may be extended upon mutual Contract between the vendor and the County with no change in terms or conditions. Under this provision, three extensions of performance period shall be allowed in one (1) year increments. Total contract length and individual one (1) year extensions shall not exceed four (4) years in total. Any Contract or amendment to the Contract shall be subject to fund availability and mutual written agreement between the County and the Vendor.

### SECTION 21. Exercise of Option

Exercise of option to extend term of contract: If the County wishes to enter into an option period, the County shall request from the Vendor their written statement of desire to enter into an extension of the performance period.

### SECTION 22. Probationary Period

The first ninety (90) days of this Contract are to be considered a "probationary" period. At the County's election, this Contract may be terminated, based on the performance of the Vendor, and a new award be granted without another formal bid.

## SECTION 23. Escalation Clause

Ninety (90) days prior to the end of the contract term, the Vendor may request in writing an increase in an individual item unit cost. Consideration of price increases at each renewal period will be given provided such escalations are reasonable and acceptable to the County. It is also expected that de-escalation of prices will be extended to the County if market so reflects. The County will consider a price adjustment based on the latest Consumer Price Index and/or proof of a manufacturer's price increase. Any and all proposed increases are subject to approval by the County.

### SECTION 24. Supervision

The Vendor shall act as an independent contractor and not as an employee of the County. The County shall not exercise any supervision or control over the Vendor's employees performing services under this Contract. Such employees shall be accountable not to the County, but solely to the Vendor, who in turn is responsible to the County.

### **SECTION 25. Indemnification and Insurance**

The Vendor shall indemnify and hold harmless the County and its agents and employees from and against all claims, damages, losses and expenses, including attorney's fees, arising out of or resulting from the performance of this contract, provided that any such claims, damage, loss or expense is attributable to bodily injury, sickness, disease or death, or to loss to or destruction of tangible property, including loss of use resulting therefrom; and is caused in whole or in part by any negligent or willful act or omission of the Vendor and/or Subcontractor, anyone directly or indirectly employed by any of them or anyone for whose acts any of them may be liable.

In any and all claims against the County or any of its agents or employees, by any employee of the Vendor, any Subcontractor, anyone directly or indirectly employed by any of them or anyone for whose acts any of them may be liable, the indemnification obligation shall not be limited in any way by any limitation on the amount or type of damages, compensation, or benefits payable by or for the Vendor or any Subcontractor under Workers' Compensation acts, disability benefit acts, or other employee benefits act.

The vendor shall, on a primary basis, and at its sole expense, agree to maintain in full force and effect at all times during the life of this contract, insurance coverage's, limits, including endorsements, as described herein. The requirements contained herein, as well as the County's review or acceptance of insurance maintained by the Vendor is not intended to and shall not in any manner limit or qualify the liabilities and obligations assumed by the Vendor under the Contract.

**Workers' Compensation:** The Vendor shall agree to maintain Workers' Compensation Insurance and Employers Liability in accordance with Florida Statute Chapter 440. Coverage must include Employers Liability with a minimum limit of \$100,000 for bodily injury caused by an accident, each accident; \$100,000 for bodily injury caused by a disease, each employee; \$500,000 for bodily injury caused by a disease, policy limit.

**Business Auto Policy:** The Vendor shall agree to maintain Business Automobile Liability at a limit of liability not less than \$1,000,000 each occurrence for all owned, non-owned and hired automobiles. In the event the Vendor does not own any automobiles, the Business Auto Liability requirement shall be amended allowing the Vendor to agree to maintain only Hired and Non-Owned Auto Liability. This amended requirement may be satisfied by way of endorsement to the Commercial General Liability, or separate business auto coverage form.

**<u>Commercial General Liability:</u>** Commercial General Liability for public liability during the lifetime of this Contract shall have minimum limits of \$1,000,000 each occurrence, \$2,000,000 General Aggregate; and \$2,000,000 Products-Completed Operations Aggregate. Coverage shall include Premises and/or Operations, Independent Contractors, Products and/or Complete Operations, Personal and Advertising Liability, Contractual Liability and Broad Form Property Damage Endorsements. Coverage shall not contain an exclusion or limitation endorsement for Contractual Liability or Cross Liability. Coverage for the hazards of explosion, collapse and underground property damage (XCU) must also be included when applicable to the work to be performed. All insurance policies shall be issued from a company or companies duly licensed by the State of Florida. All policies shall be on an occurrence basis; the County shall not accept claims-made policies. Specific endorsements will be requested depending upon the type and scope of work to be performed.

Additional Insured Requirements: Certificates showing proof of the above required insurance shall be provided to the County prior to start of this contract and shall be attached hereto as Exhibit "C". Except as to Workers' Compensation and Employers' Liability, said Certificate(s) shall clearly state that coverage required by the Contract has been endorsed to include Nassau County, a political subdivision of the State of Florida, its officers, agents and employees as Additional Insured with a CG 2026-Designated Person or Organization endorsement, or similar endorsement, to its Commercial General Liability. The name for the Additional Insured endorsement issued by the insurer shall read "Nassau County, a political subdivision of the State of Florida, its officers, employees and agents". Above stated insurance policies will be endorsed to unequivocally provide thirty (30) days written notice to the County prior to any adverse changes, cancellation, or non-renewal of coverage thereunder. A copy of the policy endorsements must be included with the Certificate of Insurance. Said liability insurance must be acceptable by and approved by the County as to form and types of coverage. In the event that the statutory liability of the County is amended during the term of this Contract to exceed the above limits, the contractor shall be required, upon thirty (30) days written notice by the County, to provide coverage at least equal to the amended statutory limit of liability of the County.

### **SECTION 26. Disputes**

Any dispute arising under this Contract shall be addressed by the representatives of the County and the Consultant as set forth herein. Disputes shall be set forth in writing to the

County Manager with a copy to the Department Head or Consultant, depending on which party initiates the dispute, and provided by overnight mail, UPS, FedEx, or certified mail. A response shall be provided in the same manner prior to the initial meeting with the County Manager, the Department Head (or their designee), and a representative of the Consultant. This initial meeting shall take place no more than thirty (30) days from the written notification of the dispute addressed to the County Manager.

If the dispute is not settled at the initial meeting, the County Manager shall immediately notify the County Attorney. The Department Head (or his/her designee), the County Attorney, the County Manager, and the Department Head (or their designee(s)) shall meet with the Consultant's representative(s) within thirty (30) days of the County Manager's notification to the County Attorney of the continued dispute.

If there is no satisfactory resolution, the claims, disputes, or other matters in question between the parties to this Agreement arising out of or relating to this Agreement or breach thereof, shall be submitted to mediation in accordance with mediation rules as established by the Florida Supreme Court. Mediators shall be chosen by the County and the cost of mediation shall be borne by the Consultant. If either party initiates a Court proceeding, and the Court orders, or the parties agree to, mediation, the cost of mediation shall be borne by the Consultant. Consultant shall not stop work during the pendency of mediation or dispute resolution. No litigation shall be initiated unless and until the procedures set forth herein are followed.

### SECTION 27. Entire Agreement

The written terms and provisions of this contract shall supersede all prior verbal statements of any official or other representative of the County. Such statements shall not be effective or be construed as entering into, or forming a part of, or altering in any manner whatsoever, this Contract or contract documents.

IN WITNESS WHEREOF, the parties have executed this contract on this day and year first above written.

## BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

V. HOLLO BARRY Its: Chair

Attest as to authenticity of the Chair's signature:

A. CRAWFORD : Ex-Officio Clerk

Approved as to form and legality by the Nassau County Attorney

DAVID A. HALLMAN

Contract Number CM2045 Bid Number NC13-040

SOUTHEASTERN EMERGENCY EQUPMENT

By: KAILE A. CIZZO Its: DIRELTOR BIDS ECONTRACTS

## STATE OF NORTH CAROLINA COUNTY OF PRANKLIN

SU THERE

Before me personally appeared, KAILE A. Pizzo, , who is personally known or produced \_\_\_\_\_\_\_ as identification, known to be the person described in and who executed the foregoing instrument, and acknowledged to and before me that he/she executed said instrument for the purposes therein expressed.

WITNESS my hand and official seal, this  $\underline{\mathcal{H}}$  day of  $\underline{\mathcal{N}}$   $\underline{\mathcal{N}}$ North Carolingat large Notary-Public-State of NOTAR) My Commission expires:

# EXHIBIT "A"

# MEDICAL SUPPLIES BID NO: NC13-040

AWARD SPREADSHEET

## EXHIBIT "A"

## RE: Revision of Award for One Product Group on Bid NC13-040 Medical Supplies

## Kaile Rizzo <Kaile.Rizzo@seequip.com>

Thu 2/6/2014 3:04 PM

To:Dawn Krass <dkrass@nassaucountyfl.com>;

Hi Dawn,

We acknowledge that we have received the revised bid tabulation and award summary and find the changes to be acceptable. Sorry for the delayed response! Thanks Kaile

Kaile A. Rizzo Director, Bids & Contracts Southeastern Emergency Equipment www.seequip.com 800-334-6656 x.231 888-556-1048 fax

From: Dawn Krass [mailto:dkrass@nassaucountyfl.com]
Sent: Thursday, February 06, 2014 2:56 PM
To: Kaile Rizzo
Cc: Dawn Krass
Subject: FW: Revision of Award for One Product Group on Bid NC13-040 Medical Supplies

Kaile,

Please see below email and referenced attachments regarding the one group change in the recommendation. Southeastern Emergency Equipment is not directly affected by the change in the award. Please reply to this email with acknowledgement that the revised bid tabulation and award summary were received and are acceptable to your company.

Thank you for your assistance in this matter.

Dawn Krass Contract Specialist Nassau County Contract Management 96135 Nassau Place, Suite 6 Yulee, FL 32097 Phone: (904) 491-7377 ext 1097 Fax: (904) 321-2658 Email: <u>dkrass@nassaucountyfl.com</u> EXHIBIT "A"

## From: Dawn Krass <<u>dkrass@nassaucountyfl.com</u>> Sent: Friday, January 3, 2014 8:38 AM To: 'kentron@kentronmedical.com'; 'kaile@seequip.com'; 'jesse.garringer@henryschein.com'; 'purchasing@quadmed.com' Cc: Dawn Krass; Mike Sadler Subject: Revision of Award for One Product Group on Bid NC13-040 Medical Supplies

Good morning,

When the contracts were received by the recommended vendors, it was brought to the County's attention that Bound Tree is the exclusive distributor of the Airway, King System in the EMS market. After learning this, the County is revising the Recommendation of Award to reflect the Airway, King System be changed from Quadmed to Boundtree Medical.

Please find attached the Revised Exhibit A to your contract reflecting the new recommendation that will be given to the Board of County Commissioners for Award of this bid. The Summary Sheet and Bid Tabulation have both been revised effective November 20, 2013 showing the change for the Airway, King System line item.

Please review the attached information and reply to this email that you acknowledge the change. We had already received your signed contract back when this decision was made and we want to ensure all recommended vendors are aware of the revision before we present this to our Board.

Thank you for your assistance with this matter. Please feel free to contact me with any questions.

Dawn M. Krass Contract Specialist Nassau County Contract Management 96135 Nassau Place, Suite 6 Yulee, Florida 32097 Phone: (904)491-7377 ext 1097 Fax: (904) 321-2658 Email: <u>dkrass@nassaucountyfl.com</u>

<b>Bid Tabulation for Award Summary</b>
NC13-040 Medical Supplies
Revised November 20, 2013

GROUPING	RECOMMENDED VENDOR
Airway	Kentron Health Care
Airway Equipment	Boundtree Medical
Airway, King System	Quadmed-Boundtree Medical
Airway Laryngoscope	Southeastern Emergency Equipment
Bandages	Southeastern Emergency Equipment
Bio-Waste	Boundtree Medical
Disposable Linen	Boundtree Medical
Fluids	Boundtree Medical
Immobilization	Quadmed
Instruments	Kentron Health Care
IV Supplies	Boundtree Medical
Monitoring	Henry Schein
Monitoring Equipment	Boundtree Medical
Monitoring Glucose	Southeastern Emergency Equipment
Monitoring Lifepak 12/15	Henry Schein
Needles	Henry Schein
Oxygen Delivery	Boundtree Medical
Oxygen Equipment	Kentron Health Care
Pharmaceuticals	Henry Schein
PPE	Quadmed
Suction	Henry Schein
Syringes	Henry Schein
Twinpak	No longer used- no award

			Т		Sov	vereign Me	dical inc.		A	Guard	an Medic	al Products			Southeastern	Emerg	ency Equipm	ent	1	Mid	west Me
	ProductiNaint	Production remailer 1	単式	Unition	Unitofal	Quentilly	Cother of	EXChided		United	Quantity	CostiPer	Extended	Unition	AUnitiona Qui	antib Al	COLLECT	E dendades	Unitot	Unitor	Quantity
			単立辺	Cintra (		m Col		President President			(23) Commo	1000	NUC N CR	Marrinso. Incore			lictur	ARCT.	MOUNT :		•
icin	و معد المشارك المعالية المراجع المراجع المراجع الم	water of the state	hadabadan (kana) Kalan dalah di kana di	TTT Laws	Sume in such as the	in and a state of the	an a	Same and second at a second	Mr. union	ه مراجعه الاعداد م	-	المحضمت	ميل بر المكت المدينية المعلمة في تلك المد	TTTL.	Laboran al an	alaine ann an the state of the st	المردية مساوية مادية		7 Theres	Same Shares	
	Y MALE REPORT OF THE PARTY OF T		Constitution and stated									\$ 0.2350		EACH				1443(695)84			NGS: 15 A
		40mm 50mm	12 12		NO BID		#VALUE!	#VALUEI #VALUEI	BOX	\$2.35		\$ 0.2350 \$ 0.3250	\$ 2.8200 \$ 3.9000	EACH	\$0.16 \$0.16	1 1	0.1600 0.1600	1,9200 1,9200		\$7.13	50 50
		60mm	16		NO BID		#VALUE!	#VALUE!	BOX	\$2.35		\$ 0.2350		EACH		1 1	0.1600	2.5600		\$7.13	50
	an Oral Airway	70mm	20		NO BID		#VALUE!	#VALUEI	BOX	\$3.25		\$ 0.3250		EACH	\$0.16	1 5	0.1600	<b>3.2000</b>		\$7.13	50
		80mm 90mm	20 20		NO BID NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI	BOX	\$2.35	10 10	\$ 0.2350 \$ 0.2350	\$ 4,7000 \$ 4,7000		\$0.16	1	0.1600	3,2000 3,2000		\$7.13	<u>50</u>
		100mm	12		NO BID		#VALUEI		BOX	\$2.35		\$ 0.2350 \$ 0.2350			\$0.16	1 9	0.1600 0.1600	<u>3.2000</u> 1,9200		\$7.13 \$7,13	<u> </u>
		110mm	12		NO BID		#VALUE!	#VALUE!	BOX	\$2.35		\$ 0.2350		EACH		1 1		1.9200		\$7.13	50
		2.0 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900		EACH	\$1.61	1 5		\$ 161.0000		\$40.30	10
		2.5 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX BOX	\$15.90		\$ 1.5900	\$ 159,0000		411001	1	\$ 1.8800	\$ 188.0000		\$3.44	
The second secon		3.0 Uncuffed 3.5 Uncuffed	100		NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI	BOX	\$15.90 \$15.90		\$ 1.5900 \$ 1.5900	\$ 159,0000 \$ 159,0000	EACH		$\frac{1}{1}$	\$ 1,1300 \$ 1,1300	113.0000 113.0000		\$1.40	1
		4.0 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15,90	10	\$ 1.5900		EACH	\$1.13	1	the second s	\$ 113.0000		\$1.40	1
14 ET Tu	ube w/ stylette	4.5 Uncuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900	\$ 159.0000	EACH	\$1.13	1	\$ 1.1300	\$ 113.0000	EACH	\$1.40	1
		5.0 Uncuffed 5.5 Cuffed	100		NO BID		#VALUEI #VALUEI	#VALUE!	BOX BOX	\$15.90		\$ 1.5900 \$ 1.5900	\$ 159.0000			1		\$ 113,0000	EACH	\$1.40	1
		5.5 Cuffed 6.0 Cuffed	100	i	NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$15.90	10 10	\$ 1.5900 \$ 1.5900	\$ 159.0000 \$ 159.0000		\$1.13 \$1.13	1 9		113.0000 113.0000	EACH	\$1.43 \$1.43	
		6.5 Cuffed	150		NO BID		#VALUE!	#VALUE!	BOX	\$15,90	10	\$ 1.5900	\$ 238,5000		\$1.13	1 1	\$ 1,1300	\$ 169,5000	EACH	\$1.43	1
	ube w/ stylette	7.0 Cuffed	150		NO BID		#VALUE!	#VALUE!	BOX	\$15.90		\$ 1.5900	\$ 238,5000		\$1.13	1 1	\$ 1,1300	\$ 169,5000	EACH	\$1.43	1
	ube w/ stylette	7.5 Culfed	150		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900	\$ 238.5000		\$1.13	1	5 1.1300	\$ 169,5000	EACH	\$1.43	
		8.0 Cuffed 8.5 Cuffed	150		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$15.90 \$15.90	10	\$ 1.5900 \$ 1.5900	\$ 238,5000 \$ 159,0000		\$1.13 \$1.13	$\frac{1}{1}$	\$ 1.1300 \$ 1.1300	\$ 169.5000 \$ 113.0000	EACH	\$1.43 \$1.43	
	ube w/ styletie	9.0 Cuffed	100		NO BID		#VALUE!	#VALUE!	BOX	\$15.90	10	\$ 1.5900		EACH	\$1.13	1 1	\$ 1.1300	\$ 113.0000	EACH	\$1.43	
	pharyngeal Airway	12 FR	40		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100		EACH	\$2.04	1 1		\$ 81.6000	BOX	\$15,10	10
	pharyngeal Alrway	14 FR	40		NO BID		#VALUEI	#VALUE!	BOX	\$15,10	10	\$ 1,5100		EACH	\$2.04	1 5		\$ 81.6000	BOX	\$15.10	10
	pharyngeal Airway	16 FA	40		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100		EACH	\$2.04	1	\$ 2.0400	\$ 81.6000		\$15.10	10
	opharyngeal Airway opharyngeal Airway	18 FR 20 FR	40		NO BID		#VALUE! #VALUE!	#VALUE!	BOX BOX	\$15.10 \$15.10	10 10	\$ 1.5100 \$ 1.5100	\$ 60.4000 \$ 60.4000	EACH	\$2.04 \$2.04	$\frac{1}{1}$	\$ 2.0400 \$ 2.0400	\$ 81.6000 \$ 81.6000		\$15.10 \$1.51	10
	pharyngeal Airway	22 FR	40		NO BID		#VALUE	#VALUE!	BOX	\$15.10	10	\$ 1.5100		EACH	\$2.04			\$ 81.6000		\$1.51	
	pharyngeal Airway	24 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100		EACH	\$2.04	1	the second se	\$ 163.2000		\$1.51	1
	pharyngeal Airway	26 FR	80		NO BID		#VALUE!	#VALUE!	BOX	\$15.10	10	\$ 1.5100		EACH	\$2.04	1	\$ 2.0400	\$ 163.2000		\$1,51	1
	pharyngeal Airway pharyngeal Airway	28 FR 30 FR	80 80		NO BID		#VALUEI #VALUEI	#VALUE! #VALUE!	BOX	\$15.10 \$15.10	10 10	\$ 1.5100 \$ 1.5100	\$ 120.8000 \$ 120.8000	EACH	\$2.04	1	\$ 2.0400 \$ 2.0400	\$ 163.2000 \$ 163.2000		\$1.51 \$1.51	
	pharyngeal Airway	32 FR	80	<u> </u>	NO BID		#VALUE!	#VALUEI	BOX	\$15.10	10	\$ 1.5100	\$ 120.8000		\$2.04		\$ 2.0400	\$ 163.2000		\$1.51	
	pharyngeal Airway	34 FR	80		NO BID		#VALUEI	#VALUE!	BOX	\$15.10	10	\$ 1.5100		EACH	\$2.04	1		\$ 163.2000		\$1.51	1
	pharyngeal Alrway	36 FR	80		NO BID		#VALUEI	#VALUE!	BOX	\$15.10	10	\$ 1.5100	\$ 120,8000	EACH	\$2.04	1		\$ 163.2000	EACH	\$1.51	1
	ay Equipment Stree	Redshid the artematic in the	16	મહેલું તેમ પ્રિયુધિન	NO BID	Nº44 20	#VALUE!	#VALUEI#s	BOX	\$23.80	50		\$ 7.6160	EACH		6-74-74 Q	\$ 0,3300	\$14156.33		1. 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 19 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	કરીને તેણ ક
	ducer, ET Tube		60		NO BID		#VALUE!	#VALUE!	BOX	\$36,36	10	\$ 0.4760 \$ 3.6360	\$ 218,1600	EACH	\$0.33		\$ 0.3300	\$ 5.2800 \$ 275.4000		\$0.30 \$3.87	
39 Lubrid	icating Jelly, Sterile	3 grams	200		NO BID		#VALUEI	#VALUE!	BOX	\$13.56	150	\$ 0.0904		BOX	\$4,93	144	\$ 0.0342	\$ 6.8472		\$5.97	144
	Tube, ET Tube Placement		20		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$3,39	1	\$ 3.3900	\$ 67.8000		\$369.35	100
	nas Tube Holder	Pediatric	100 200		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	100	\$347.00 \$347.00	100	\$ 3.4700	\$ 347.0000 \$ 694.0000	EACH	\$2.67 \$2.67	1	\$ 2.6700	\$ 267.0000		\$2.66	1
	nas Tube Holder	Adult	200 36966047		SAME CON	<b>6</b> 999-17-200	#VALUE		100 65 (10) (10)	\$347.00	100	\$ 3.4700	\$ 694.0000 \$\$\$\$\$8.892.80	EACH		Science 12	-	\$ 534.0000 \$+9#8.893.60		\$2.66	1 site i a i
43 King	Tube LT-D Kits	Size 2	40		NO BID		#VALUE!	#VALUE!	BOX	\$317.60	10	\$ 31.7600	\$ 1,270.4000	EACH	\$28.47	1		\$ 1,138.8000	1	NO BID	
	Tube LT-D Kits	Size 2.5	40		NO BID		#VALUE	#VALUE!	BOX	\$317,60	10	and the second data second data and	\$ 1,270.4000	EACH	\$28.47			\$ 1,138.8000		NO BID	
	Tube LTS-D Kits	Size 3 Size 4	40 80		NO BID		#VALUE! #VALUE!	#VALUE!	BOX BOX	\$317.60 \$317.60	10		\$ 1,270.4000 \$ 2,540.8000	EACH	\$33.08			\$ 1,323.2000		NO BID	
	Tube LTS-D Kits Tube LTS-D Kits	Size 5	80		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$317.60	10				\$33.08 \$33.08			\$ 2,646.4000 \$ 2,646.4000	ł	NO BID	
	ay Langagoscope		****			Q <b>e</b> la (* 1595)	A CRUESCAR	\$ 8,054.90					***VALUEI		SUCCESSION NEW	1653		\$1,381,20	ALC: OF		89 (S. )
	ngoscope Blade	Mac #0	6	does not exist	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		AVALUER			NO BID	
	ngoscope Blade	Mac #1	12	EACH	\$9.95	1	\$ 9.9500	\$ 119.4000		NO BID		#VALUE!	#VALUEI	EACH	\$8.62			\$101103,4400		NO BID	
50 Laryn	ngoscope Blade	Mac #2	12	EACH	\$9.95	1	\$ 9.9500	\$ 119,4000		NO BID		#VALUE!	#VALUE!	EACH	\$6.72	1 .	\$ 46.7200	\$ Min 80.6400		NO BID	
	ngoscope Blade	Mac #3	12	EACH	\$9.95	1	\$ 9.9500	\$ 119,4000		NO BID		#VALUE!	#VALUE!	EACH	\$6.72			\$ 200 80.6400		NO BID	
	ngoscope Blade ngoscope Blade	Mac #4 Miller #0	12	EACH EACH	\$9.95		\$ 9.9500 \$ 9.9500	\$ 119.4000 \$ 59,7000		NO BID		#VALUEI #VALUE!	#VALUE!	EACH	\$6.72			\$ 000 80.6400 \$ 000 40.3200		NO BID	
		Miller #1		EACH																	
54 Laryn	ngoscope Blade	WING(#)	12	CAGH	\$9.95		\$ 9,9500	\$ 119,4000		NO BID		#VALUE!	#VALUE!	EACH	\$8,62	1 8	2.0001	\$ 00103,4400		NO BID	

Contract Management Prepared by Dawn Krass

### Bid Number NC13-040 Medical Supplies

### Bid Tabulation (Revised November 20, 2013)

### Bids Opened 9/26/13

	Cmn/Houborg	RiccuctiPascription		Unit Of Co Measurat (le box as	(Unit Ci/ Measure Cost	Quantity per	Cost Per-	Extended Riccoptr	Unition Motivito	Unit Of	Quantility. (pb): Measure	Coal Per a	er Extended a Price per Usage	Uniti Ofac Measure (le box,	aUnit Ofa Medalline Costa	Quantity	CoatiPartin Iticini	Entended Price por	Unit Of C Manufe		Quantity per 2 Measure
item	<u> 12 - Electron and a</u>				<b>展示市支援</b>	Measure			Cite DOX	COST	Measure Excention	教授会社会	和地名美国哈尔特	0. TO 20.		Measure		UCCO	CT 10)	1999年1999年199	Measure
	aryngoscope Blade	Miller #3 Miller #4		EACH	\$9.95 \$9.95	$-\frac{1}{1}$	\$ 9.9500 \$ 9.9500	\$ 119.4000 \$ 119.4000		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$6.72 \$8.62	1	\$10%6.7200	\$100080.6400		NO BID	
	aryngoscope Handle	Small	12	EACH	\$85.00	1	\$ 85,0000	\$ 1.020.0000		NO BID		#VALUE	#VALUE!	EACH	\$26.14			\$994313.6800		NO BID	
	aryngoscope Handle	Large		EACH	\$85.00	1	\$ 85.0000	\$ 1,020.0000		NO BID		#VALUE!	#VALUE!	EACH	\$26.14		\$ 26/14001	1\$100313:6800	2	NO BID	
and the second se	BANDAGES	HAD BODDER SUNNING AN	al sugar	要要的完全完整	的海豚	また、 2019年 -	i Capità (Sile 17	***VALUEI##	Sec. Sec. B	and the second second	William Britter	和時間的計算工作	\$1 \$ 377.60	ALCONTRACT ON	A A MASSING	がし、合当		18 4 5 725 71	S STAND	337.1148	Strand College
	" Self Adherent Wrap		200		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	CASE	\$10.56	30	\$ 0.3520 \$ 0.3520	\$ 70.4000 \$ 72.1600	PACK EACH	\$1.26 \$1.02	2		\$125:0000		\$9.82	30
	* Self Adherent Wrap * X 4* X 8 ply	Non-Sterile	205		NO BID		#VALUE!	#VALUEI #VALUEI	BOX	\$10.56 \$3.20	30 200	\$ 0.3520 \$ 0.0160	\$ 72.1600	BAG	\$1.02	200		1\$100209;1000		\$22.85	36 200
	1"X4"X8 ply	Sterile	200		NO BID		#VALUE!	#VALUE!	BOX	\$6.65	100	\$ 0.0665	\$ 13.3000	BOX	\$1.47	50		\$\$\$\$\$5:8800		\$1.24	50
	ABD Pad	5" X 9"	25		NO BID		#VALUE!	#VALUE!	BOX	\$2.38	20	\$ 0.1190	\$ 2.9750	BOX	\$1.69	25		\$1.5900		\$1.59	20
	ABD Pad	71/2" X 8"	25		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$1.83	12		\$ 000 N3.8125		\$1.59	12
	ABD Pad Asherman Chest Seal	8" X 10"	25 50		NO BID NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$2.87 \$9.35	15	\$ 0.1913 \$ 9.3500	\$ 4.7833 \$ 467,5000	BOX EACH	\$2.22 \$8.33	20	\$9-40.1110/	\$2:7750 \$3:416.5000	BOX EACH	\$3.16	24
		3/4" x 3", Cloth	1000		NO BID		#VALUE!	#VALUE!	EACO	NO BID		\$ 9.3500 #VALUE!	\$ 467.5000 #VALUE!	BOX	\$8.33	100		\$000014:5000		\$9.55	100
		60" X 90"	60		NO BID	-	#VALUEI	#VALUE!	EACH	\$2.89	1	\$ 2.8900	\$ 173.4000		\$1.87	1		\$99112,2000		\$1.29	1
70	Cold Pack		300		NO BID		#VALUE!	#VALUE!	CASE	\$6.79	24	\$ 0.2829	\$ 84.8750	CASE	\$7.09	24		\$ 88.6250		\$9.35	24
71	Conforming Gauze Bandage	2" Sterile	1000		NO BID		#VALUE!	#VALUE!	EACH	\$0.23	1	\$ 0.2300	\$ 230.0000	BAG	\$2.09	12		\$\$\$\$174,1667		\$2.28	12
72	Conforming Gauze Bandage	4" Sterile 4" Non-Sterile	1000		NO BID		#VALUE!	#VALUE! #VALUE!	EACH BÓX	\$0.26 \$1.70	1	\$ 0.2600 \$ 0.1417	\$ 260.0000 \$ 141.6667	BAG BAG	\$2.64 \$1.69	12		\$ 140.8333		\$2.84	12
74	Eve Patch	Large Oval	60		INO BID		#VALUE!	#VALUE!	BOX	\$1.09	4	\$ 0.2725	\$ 16,3500		\$3.96	50		\$ 8 9 4 7520		\$3.66	50
75	Hot Pack		250		NO BID		#VALUE!	#VALUE!	CASE	\$10.90	24	\$ 0.4542	\$ 113.5417		\$10.98	24		\$ 34114:3750		\$13.57	24
76	Hydrogen Peroxide	16 oz bottle	100		NO BID		#VALUE!	#VALUEI	EACH	\$0.85	1	\$ 0.8500	\$ 85.0000		\$0.49	1		\$ 49.0000		\$55.00	1
	Mechanical Advantage Tourniquet	101 1/ 001	50		NO BID		#VALUE!	#VALUE!	<u></u>	NO BID		#VALUE!	#VALUE!	EACH	\$22.98	1		1\$211149.0000		NO BID	
	Multi-Trama Dressing Petroleum Dressing	12" X 30" 4" X 4"	50		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	CASE	\$26.25 NO BID	25	\$ <u>1.0500</u> #VALUE!	\$ 52.5000 #VALUE!	EACH	\$1.23 NO BID	1		\$##61:5000		\$0.75	1 50
80	Tape 1"	Transpore	1000		NO BID		#VALUE!	#VALUE!	BOX	\$11.82	12	\$ 0.9850	\$ 985.0000	BOX	\$9.54	12		\$1##795,000		\$10.09	12
81	Tape 1"	Paper	500	<u> </u>	NO BID		#VALUE!	#VALUEI	BOX	\$4.85	12	\$ 0.4042	\$ 202.0833	BOX	\$3.39	12		\$44141,2500		\$3.51	12
82	Tape 2"	Transpore	1000		NO BID		#VALUE!	#VALUEI	BÓX	\$11.82	6		\$ 1,970.0000		\$9.54	6		\$\$1,590.0000		\$10.09	6
83	Tape 2	Paper	500		NO BID		#VALUE!	#VALUE!	BOX	\$4.85	6	\$ 0.8083	\$ 404.1667	BOX	\$3.39	6		\$**282.5000		\$3.51	6
84	Triangular Bandages BIO-WASTE	40" X 40" X 56"	60	An Index 1988	NO BID	anna i a ca	#VALUE!	#VALUE!	BOX	\$4.78	12	\$ 0.3983	\$ 23.9000 \$ 1,544.00		\$0.32	<u>1</u>		\$ 19.2000 \$ 19.2000		\$0.21	1
	Backboard Bags	24" x 86"	1		NO BID	Part Contractor	#VALUE!	#VALUE!	1977 V 14968 C	NO BID		#REF!	#REF!	EACH	\$2.52	1	\$ 2,5200	\$ 2,5200		\$68.90	50
86	Convenience Bags		200		NO BID		#VALUE!	#VALUE!	BOX	\$9.25	25	\$ 0.3700	\$ 74.0000		\$7.87	25	\$ 0.3148			\$10.35	25
87	Red Bags, Small	24" X 24"	2000		NO BID		#VALUE!	#VALUE!	80X	\$3.80	50	\$ 0.0760	\$ 152,0000		\$0.94	10	\$ 0.0940			\$48.51	500
88	Red Bags, Large	30.5" X 41"	1000	<u> </u>	NO BID		#VALUE!	#VALUE!	BOX	\$18.90	50	\$ 0.3780	\$ 378.0000		\$2.09	10	\$ 0.2090 \$ 1.5700			\$63.16	250
89 90	Sharps Shuttle, P2 Sharps Container, 1 gt	P/N 31143657	500 60		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$45.12 NO BID	24	\$ 1.8800 #VALUE1	\$ 940.0000 #VALUE	EACH	\$1.57 NO BID		\$ 1.5700 #VALUE!	\$ 785.0000 #VALUE!	EACH	\$1.64	
91	Sharps Container, 12 gt	P/N 8537SA	100	<del> </del>	NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID		#VALUE	#VALUE	CASE	\$81.46	10	\$ 8,1460			\$8.63	
92	Bracket, Mounting for 12 qt		6		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$99.24	5	\$ 19,8480			\$102.75	5
$\mathcal{A}_{\mathcal{A}} = \mathcal{A}_{\mathcal{A}}$	DISPOSABLE LINEN	the characteristic work of the party	8 N 8 8 1	\$	· 然后海峡 1.34	N. K. S. Society	19 - 19 - 19 - 19 - 19 - 19 - 19 - 19 -	#VALUE!	漢字の表に通	教育的意思		nevertherediet	\$***7,737.50		e Anne State	Nation 18	3. APPENDING 1998	\$ 10,745.40			and the second second
93 94	Blanket, Quilted, Disposable Blanket, Yellow, Disposable	60" X 90"	2000		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	CASE	NO BID \$41.25	25	#VALUE! \$ 1.6500	#VALUEI \$ 3,300,0000	EACH	\$44.14 \$2.68	10	\$ 4.4140 \$ 2.6800	\$ 441.400		\$66.79	10
94	Cot Sheet, Fitted, Disposable	00 × 50	5000	ł	NO BID		#VALUE!	#VALUE!	CASE	\$36.75	50	\$ 0.7350	\$ 3,675,0000		\$46.34	50	\$ 0.9268			\$1.15	50
96	Pillow, Disposable	Poly/Cotton	250	t	NO BID		#VALUE!	#VALUE!	3 PAK	\$9.15	3	\$ 3.0500	\$ 762.5000		\$1.24	1	\$ 1.2400			\$2.27	$-\tilde{1}$
Sec. 1	FLUIDS	ANAS MARABUSED AND	$t \in \mathcal{R}_{1, -} \mathcal{R}$	Walter and the	ent and the	tis regard	in the last of the	#VALUE!	1998-1997-14	el and sta	States .	Contract Alexand	\$4.139.58	والرفا الأزابة ال	e solo area	n standar	TYPE AND ARE			1 Carlos Maria	$\frac{2\pi}{2} \frac{2\pi}{2} + \frac{2\pi}{2} \frac{2\pi}{2} = \frac{2\pi}{2} \frac{2\pi}{2}$
97	NALC 0.9% Injection USP 100ml	P/N 2B1307	80	Ļ	NO BID		#VALUE!	#VALUE!	CASE	\$156.96	96	\$ 1.6350	\$ 130.8000		NO BID		#VALUE!	#VALUE!	EACH	\$1.40	
98 99	NALC 0.9% Injection USP 250ml NALC 0.9% Injection USP 1000ml	P/N 2B1322Q P/N 2B1324X	80	┟	NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	CASE	\$38.25 \$34.75	36	\$ <u>1.0625</u> \$ 2.4821	\$ 85.0000 \$ 3.723.2143		\$27.92	36	\$ 0.7756 \$ 0.9800			\$0.88	1
	NALC 0.9% Irrigation USP 1000ml	F/IN 201024A	50		NO BID		#VALUE!	#VALUE!	CASE	\$28.84	12	\$ 2.4033	\$ 120,1667	EACH	\$0.90	$-\frac{1}{1}$	\$ 1,4300			\$1.33	
101	NALC 0.9% IV Flush 10ml	P/N 8881570121	3000	1	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$0.37	1 i	\$ 0.3700			\$11.42	30
102	Sterile Water, Irrigation 1000ml		40	T	NO BID		#VALUE!	#VALUE!	CASE	\$24.12	12	\$ 2.0100	\$ 80.4000		\$1.43		\$ 1.4300	\$ 57.200	DEACH	\$1.28	1
14 a 19	IMMOBILIZATION		st marter state	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	Meridian and	Sector Sinte ar	25.4.5 (14790 24776)	WALUEI	Battine 1413	e extended a	State is built	Standard Windows			e stronger bestade	Kine wantsta	21 01 16 A 16 4			<ul> <li>人民的保護保護</li> </ul>	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
103	Backboard Air Mattress	Thomas Back Raft 9' with Cam Buckle.	50	<b> </b>	NO BID		#VALUE!	#VALUE!	EACH	\$17.59	<u>  1</u>	\$ 17.5900	\$ 879.5000	EACH	\$16.38	1	\$ 16.3800	\$ 819.000	0	NO BID	
104	Backboard Straps	Orange	6000	1	NO BID		#VALUE!	#VALUE!	CASE	\$625.00	100	\$ 6.2500	\$ 37,500.0000	EACH	\$5.93	1	\$ 5.9300	\$ 35,580,000	EACH	\$7.45	1 1
105	C Collar	Adult adjustable	1000		NO BID		#VALUE!	#VALUE!	EACH	\$11.35	1	\$ 11.3500		1	NO BID	<u> </u>	#VALUE!	#VALUE!	EACH	\$6.62	1
106	C Collar	Pedi adjustable	600	1	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI	EACH	\$6.62	1
	Head Immobilizer	Sta-Blok	1000		NO BID		#VALUEI	#VALUE	CASE	\$139.50	30	\$ 4.6500	\$ 4,650.0000		\$3.73	1	\$ 3.7300	\$ 3,730.000		\$4.34	
	Magamover Plus	P/N 53376 Adult	400	ł	NO BID		#VALUE	#VALUE #VALUE	EACH	\$24.98 NO BID		\$ 24.9800	\$ 9,992.0000 #VALUE!	CASE EACH	\$238.67 \$153.28	10	\$ 23.8670			\$21.42	1
	ProSplint Kit Restrant, Ankle	P/N 2755	12		NO BID		#VALUE!	#VALUE!	PAIŔ	\$20.83	1	#VALUE! \$ 20.8300			\$153.28		\$ 153.2800 \$ 13.2850		0 PAIR	\$164.72 \$21.56	
<u> </u>	ricerand mine		<u>(</u>	L	1.10 010			T WITCOL:	F. 740 1	ψευ.03	·	LU.0000	1 + 1+0.0100	P. 741	1 420.37		I ₩ 10.2000	¥ 32,330			

Contract Management Prepared by Dawn Krass

### Bid Tabulation (Revised November 20, 2013)

#### Bids Opened 9/26/13

Riceductiniance	RUSPERS CENTRE			Unit Official Iostaturo	ourniity Perse	CostRer	ាទការដែល ខ្មែរដែរខ្មែរ។		Unitio) Neartic	Quantity	CoatiRer liem	Extended a Price per se	Unit Of C		Quanility Pipoles	Cost Paral	Encoded (Hittypa)	Unhor	Unition Measure	Quantity
-	Contraction of the	CISCOLUCE Reality is	(IDIDDX) and	Con the set	MBESUI9		, undo	(IB)DOX	SIL OS US	Mencure Research	122022		(ICIDDX/S				Usico	12.005	COSI OF	Measure
111 Restrant, Ankle Disposable		12	N	OBID	mouse and p	#VALUEI	#VALUEI	PAIR	\$3.10	1	\$ 3.1000	\$ 37.2000	PAIR	\$4.67	2	\$ 2.3350	\$ 28,0200	PAIR	\$2,98	1
112 Restrant, Wrist	P/N 2750	7		OBID		#VALUEI	#VALUE!	PAIR	\$20.58	1	\$ 20.5800	\$ 144.0600	PAIR	\$26.31	2	\$ 13.1550	\$ 92.0850	PAIR	\$21.35	1
113 Restrant, Wrist Disposable		12		O BID		#VALUE!	#VALUE!	PAIR	\$3.10	1	\$ 3.1000		PAIR	\$4.67		\$ 2.3350	\$ 28.0200		\$2.98	1
114 SAM Splint / Flex-All		60		O BID		#VALUE!	#VALUE!	EACH	\$4,90	1	\$ 4.9000	\$ 294.0000	EACH	\$3.98	1	-	\$ 238,8000	EACH	\$2.35	1
115 SAM Pelvic Sling	Medium	10		O BID		#VALUE!	#VALUE!	EACH	\$65.18		\$ 65.1800	\$ 651.8000		NO BID		#VALUE!	#VALUE!		NO BID	
116 SAM Pelvic Sling	Large	10	N	OBID		#VALUE!	#VALUE!	EACH	\$67.18		\$ 67.1800	\$ 671.8000		NO BID		#VALUE!	#VALUE!		NO BID	
117 Stretcher Strap 7	Loop Ends, Push Button Buckle	28		DIBO	1	#VALUEI	#VALUE!	EACH	\$6.55	.	\$ 6,5500	\$ 183,4000	EACH	\$6.32	.	\$ 6.3200	\$ 176,9600	EACH	\$6.59	.
118 Traction Splint	QD-3 Child	1		OBID		#VALUE	#VALUE!	EACH	\$157.69		\$ 157,6900	\$ 157,6900		\$139,77		\$ 139,7700	\$ 139,7700		\$139.77	
119 Traction Splint	QD-4 Adult	1		OBID	+	#VALUE!	#VALUE!	EACH	\$157.69	1	\$ 157,6900		EACH	\$139.77		\$ 139,7700	\$ 139.7700		\$139.77	
	AN THE MOMENTS IN THE A	Marilla			Cane Back	ACHER STREAM	WALUE!	Mart Area	Same se	SEAL WEAR		\$1-49643.99	WHAT ALL A				Stant469.38		1. A. S. A.	98.00
120 Center Punch		25		OBID		#VALUE!	#VALUE!	EACH	\$5.24	1	\$ 5.2400	\$ 131.0000	EACH	\$2.14		\$ 2.1400	\$ 53.5000		\$5.11	1
121 Forceps, Magili	Pediatric	25		O BIO		#VALUE!	#VALUE!	EACH	\$5.23	1	\$ 5,2300	\$ 130.7500	EACH	\$4.02	1	\$ 4.0200	\$ 100,5000	EACH	\$3.77	1
122 Forceps, Magill	Adult	25		OBID		#VALUE!	#VALUE!	EACH	\$4.86		\$ 4.8600		EACH	\$4.02	1	\$ 4.0200	\$ 100.5000		\$4,12	1
123 Forceps, Kelly	51/2" Curved	25		O BID		#VALUE	#VALUE!	EACH	\$1.34	_1	\$ 1.3400		EACH	\$0.91	1	\$ 0.9100	\$ 22.7500		\$1.80	1
124 Forceps, Kelly	51/2" Straight	25		O BID		#VALUE	#VALUE!	EACH	\$1.34		\$ 1.3400	\$ 33.5000	EACH	\$0.91		\$ 0.9100	\$ 22.7500		\$1.80	
125 Ring Cutter 126 Ring Cutter Blades		12 25		O BID		#VALUE! #VALUE	#VALUE! #VALUE!	EACH PAK	\$5.98 \$5.98	1 4	\$ 5.9800 \$ 1.4950	\$ 71,7600 \$ 37,3750	EACH	\$4.34		\$ 4.3400 \$ 1,1800	\$ 52.0800 \$ 29,5000		\$11.55 \$4.46	<u></u>
126 Fling Cutter blaces 127 Scalpel, disposable, #11		60		OBID	+	#VALUE	#VALUE!	BOX	\$5.90	10	\$ 0.4500		BOX	\$4.33	10	\$ 0,4330	\$ 29,5000		\$4.46	10
128 Shears, Trauma	71/2*	60		OBID		#VALUE!	#VALUE!	EACH	\$0.96		\$ 0.9600		EACH	\$1.03	- <u>i</u>	\$ 1.0300	\$ 61,8000		\$0.70	
129 Trousseau Dilator		12		IO BID		#VALUE!	#VALUEI		NO BID		#VALUEI	#VALUEI		NO BID		#VALUEI	#VALUEI	EACH	\$104.30	1
IV SUPPLIES		Mil District		the states of	1	# (.c.'52.84%5235)	#VALUEI	States the states	W. without the			\$ 13,090.78		和过去年 196 2	MANA MARINE		\$10,851,28	网络新闻	4	Sector Courses
130 10 Drop IV Admin Set	P/N EMS3110	1000		OBID		#VALUE!	#VALUE!	CASE	\$71.85	48		\$ 1,496.8750		\$62.51	48		\$ 1,302.2917		\$1.27	1
131 60 Drop IV Admin Set	P/N EMS3160	100		OBID		#VALUE!	#VALUE!	CASE	\$71.85	48	\$ 1.4969		CASE	\$62.51	48	\$ 1.3023	\$ 130.2292	EACH	\$1.27	1
132 3-Way Stopcock	P/N 2C6240	300		OBID		#VALUE!	#VALUE!	CASE	\$64.50	50	\$ 1.2900	\$ 387.0000		NO BID		#VALUE!	#VALUE!		NO BID	
133 Alcohol Prep Pads 134 Buretrol Set, 60 Drops	Medium P/N 2C8819	2000		IO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$1,50 \$230,00	200 20	\$ 0.0075 \$ 11.5000	\$ 15.0000 \$ 575.0000	BOX	\$0.82 NO BID	100	\$ 0.0082	\$ 16.4000	BOX	\$1.27	200
135 IV Extension Set	P/N AE-3108	5000		O BID		#VALUE!	#VALUE!	CASE	\$164.00	100	\$ 1.6400		EACH	\$1.46		#VALUE! \$ 1,4600	#VALUEI \$ 7,300,0000	EACU	NO BID \$1.33	
136 IV Site Dressing	Pediatric	500		OBID		#VALUE!	#VALUE!	BOX	\$45.92	100	\$ 0.4592	\$ 229.6000		\$34.44	100	\$ 0.3444			\$358.22	100
137 IV Site Dressing	Adult	1000		IO BID		#VALUE!	#VALUE!	BOX	\$42.68	100	\$ 0.4268	\$ 426.8000	BOX	\$36.67	100	\$ 0.3667	\$ 366.7000		\$37.07	100
138 Lever Lock Cannula	P/N NF9200	300		IO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$26.62	100	\$ 0.2662	\$ 79.8600		\$110.90	400
139 Micro-Vol. Extension Set	P/N 2N3348	250		IÓ BID		#VALUE!	#VALUE!	CASE	\$82.00	50	\$ 1.6400	\$ 410.0000		NO BID		#VALUE!	#VALUE!	CASE	\$69.51	50
140 Morgan Lens		25		IO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$20.28	1	\$ 20.2800	\$ 507.0000		\$22.33	1
141 Pressure Infuser, Disposable	1000ml	20		IO BID		#VALUEI	#VALUEI	EACH		1	\$ -	\$ -	EACH	\$13.03	1	\$ 13,0300	\$ 260.6000		\$8.10	1
142 Tourniquet, Latex Free	1" X 18"	6000		IO BID		#VALUE!	#VALUE!	CASE	\$11.30	100	\$ 0.1130	\$ 678.0000	PACK	\$0.86	10	\$ 0.0860	\$ 516.0000		\$16.50	250
143 Universal Vial Adapter	P/N 2N3395	300	the second se	IO BID	Sector Sector	#VALUE!	#VALUE!	CASE	\$418.25	240	\$ 1.7427	\$ 522.8125 \$*\$1.520.94	P. S. Birgarian	NO BID	a	#VALUE!	#VALUE!	CASE	\$367.22	240
144 Blood Press, Cuff Disposable	Infant, ML Fitting	100	0	IO BID	Martin Paylon Ja	#VALUE!	#VALUE!		NO BID	S. organization	#VALUE1	#VALUE!	EACH	\$4.68	1	\$ 4.6800	\$ 468,0000		\$24.89	10
145 Blood Press, Culf Disposable	Child, ML Fitting	100		IO BID		#VALUE1	#VALUE!	t	NO BID		#VALUE!	#VALUE!	EACH	\$1.98		\$ 1,9800	\$ 198,0000		\$35.24	10
146 Blood Press, Culf Disposable	Small Adult, ML Fitting	100	N	IO BID		#VALUE!	#VALUEI	1	NO BID		#VALUE!	#VALUEI	EACH	\$2.29	1	\$ 2.2900	\$ 229,0000		\$32.07	10
147 Blood Press. Cuff Disposable	Adult, ML Fitting	200		IO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$3.04	1	\$ 3.0400	\$ 608.0000	BOX	\$38.10	10
148 Blood Press. Culf Disposable	Large Adult, ML Fitting	200		IO BID		#VALUE!	#VALUEI		NO BID		#VALUEI	#VALUE!	EACH	\$3.47	1	\$ 3.4700	\$ 694.0000		\$44.05	10
149 Blood Press. Cuff Manual	Infant	12		IO BID		#VALUE!	#VALUE!	EACH	\$5.34	1	\$ 5.3400	\$ 64.0800		\$6.38	1	\$ 6.3800	\$ 76.5600		\$5.79	1
150 Blood Press. Cult Manual	Child	20		IO BID		#VALUE!	#VALUE!	EACH	\$5.34	1	\$ 5.3400	\$ 106.8000		\$6.38	1	\$ 6.3800			\$5.79	
151 Blood Press, Culf Manual 152 Blood Press, Culf Manual	Adult Large Adult	30		IO BID		#VALUEI #VALUEI	#VALUE! #VALUE!	EACH	\$5.34	1	\$ 5.3400 \$ 7.4700	\$ 160.2000 \$ 224.1000		\$5.54		\$ 5.5400 \$ 8.0300	\$ 166.2000 \$ 240,9000		\$5.79	
152 Blood Press, Cult Manual	Pedi-Cap II	600				#VALUE!	#VALUEI	1000	NO BID		\$ 7.4700 #VALUEI	#VALUE!	EACH	\$8.03		\$ 8.9400	\$ 240,9000		\$5.79	— <u>+</u>
154 CO2 Detector	Easy Cap II	800		IO BID		#VALUE!	#VALUE!	1	NO BID		#VALUEI	#VALUE!	EACH	\$8.94	1	\$ 8.9400	\$ 7,152,0000		\$9.24	
155 Delibrillation Pad	Pediatric, Multifunction	24		IO BID		#VALUE!	#VALUEI	PAIR	\$21.95	1	\$ 21.9500	\$ 526.8000	1	NO BID		#VALUE!	#VALUE!	1	NO BID	
156 Delibrillation Pad	Adult, Multifunction	24		IO BID		#VALUE!	#VALUE!	PAIR	\$18.29	1	\$ 18.2900	\$ 438.9600		NO BID		#VALUE!	#VALUE!	CASE	\$318.80	10
157 EKG Electrodes	Pediatric, Diaphoretic	1000	N	IO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	BOX	\$9,21	60	\$ 0.1535	\$ 153.5000	PACK	\$0.47	3
	Adult, Diaphoretic (30 per		1 T	1				1												
158 EKG Electrodes	pack)	8000		IO BID		#VALUE	#VALUE!		NO BID		#VALUEI	#VALUE!	PACK	\$4.38	30	\$ 0.1460	\$ 1,168.0000		\$4.48	30
159 LifePak 12/15 Pulse Ox Sensor	Inlant, I-20	100		IO BID		#VALUE!	#VALUE		NO BID		#VALUE!	#VALUE!	EACH	\$19.46	1	\$ 19.4600			\$17.65	
160 UtePak 12/15 Pulse Ox Sensor 161 LitePak 12/15 Pulse Ox Sensor	Pediatric, D-20 Adult, Reuseable	250		IO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	<del> </del>	NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI	EACH	\$14.94 NO BID	1	\$ 14.9400 #VALUE!	\$ 3,735.0000	CASE	\$325.75	24
162 LifePak 12/15 Pulse Ox Sensor	Extension Cable, 4 ft	20		IO BID		#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!	<u> </u>	NO BID		#VALUE!	#VALUEI #VALUEI	IEACH	\$120.96 \$41.12	<u> </u>
163 LifePak 15 Temp Sensor	11996-000359	100				#VALUE	#VALUE!	1	NO BID		#VALUE!	#VALUE!	1	NO BID		#VALUEI	#VALUE!	EACH	\$138.67	
MONITORING EQUIPMENT		retubria 1.40		AS HIS A TRAD	61.000.000	Recratication	VALUEI M	i in a chiang	* Start Lindan	Address Starting	Sales approved	\$~~1,510.65	Dickston		ar. 1944 19846	State Address when	\$1,394,38		\$ 30.07	8865-18 Jack
164 Nail Polish Remover Pads	1	1000	N	IO BID		#VALUE!	#VALUE!	BOX	\$3.47	100	\$ 0.0347	\$ 34.7000	BOX	\$3.53	100	\$ 0.0353	\$ 35.3000	the state of the second second	\$3.83	100
165 Razors, Disposable		50	N	IO BID		#VALUE!	#VALUE!	BOX	\$6.65	50	\$ 0.1330	\$ 6.6500	EACH	\$0.26	1	\$ 0.2600	\$ 13.0000		\$17.00	50

Contract Management Prepared by Dawn Krass

### Bid Number NC13-040 Medical Supplies

### Bid Tabulation (Revised November 20, 2013)

#### Bids Opened 9/26/13

	4PçedueliNLintX	Production Compilant		ປການອາ Manuto -	Unit Of a	Quantity	Cost PCP Illem	en Exicinded Fritzagen	UNICON ACCOLORIZA			Coalifort (	Extended Price parts	Unit Offer		Oventity.	Contigui Liciù	Extended Eliferiden			Juantity Peret
item	<u></u>	Infant/Pediatric,	Uzesge Receije	(le box	Cost	Measure		- ump	(IG)DOXIDE Calle)	COST	Measure		Usage	(le box) case)/case	RCOSILE Market	Measure			ie pozra Chief se se	Costar	Measure Auron
166	Stethoscope	Proscope	20		NO BID		#VALUEI	#VALUE!	EACH	\$6.08	1	\$ 6.0800	\$ 121.6000	EACH	\$8.63		\$ 8.6300	\$ 172,6000	EACH	\$4.98	
167	Stethoscope	Adult, Adscope/Sprague	30				#VALUE!	#VALUEI	EACH	\$5.45	1	\$ 5.4500	\$ 163.5000	EACH	\$5.93	1	\$ 5,9300	\$ 177,9000	EACH	\$7.58	1
_	Thermoscan		4		NO BID		#VALUE!	#VALUE!	EACH	\$198.80	1	\$ 198.8000		EACH	\$169.27	1	the second s	\$ 677.0800	EACH	\$172.61	1
	Thermoscan Covers		5000		NO BID		#VALUE!	#VALUÉI	BOX	\$15.56	200	\$ 0.0778	\$ 389.0000	BOX	\$12.74				BOX	\$13.02	200
		the second se	Augent Harr		Conversion Netters	的新分子的	Think British	SA VALUEINA	Sumain the	No. Pro. operate	in the second second	No. AF ADDA		addal Hotes	en, ern fikjes			\$ 442,875.32		\$117.65	A B
	Blood Glucose Monitor Blood Glucose Test Strips	Precision Xtra Precision Xtra	12 8000		NO BID NO BID		#VALUEI #VALUEI	#VALUEI #VALUE!	EACH BOX	\$45.00 \$21.63	50	\$ 45.0000 \$ 0.4326	\$ 540.0000 \$ 3.460.8000	EACH BOX	\$0.01 \$17.97			\$ 900 001 200 1200 1200 1200 1200 1200 12		\$69.40	50
	Blood Glucose Control Solutions	MediSense	14		NO BID		#VALUE!	#VALUE!	EACH	\$8.98	1	\$ 8.9800	\$ 125.7200	BUA	NO BID			AP#VALUE! #		\$51.17	6
		50 per Box	24		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID			SHE #VALUE! 84		\$16.82	100
1.50	MONITORING LIFEPAK 12/15	the although it is a second	144000	W. S. Star	W. K. N. S. F.	20 2.44	A	#VALUEI-	Store Sugar	Sec. 4 Post	Section of the sectio	Contained the said	\$ 28,048.00	enclosed of the set	At Sate Se			STAVALUE!		\$ 7.5×12** C # 3	6.5 6 2. 2
174	Defibrillation Pad	Pediatric, Edge Sys Quick Combo Pad Adult, Edge System,	200		NO BID		#VALUE!	#VALUE!	PAIR	\$49.28	1	\$ 49.2800	\$ 9,856.0000		NO BID		#VALUE!	#VALUE!	PAIR	\$44.37	1
175	Defibrillation Pad	Quick Combo Pad	400		NOBID		#VALUEI	#VALUE!	PAIR	\$40.53	1	\$ 40.5300	\$ 16,212,0000		NO BID		#VALUE!	#VALUE!	PAIR	\$36.91	1
176	EtC02 Nasal Canula	Adult, Smart CapnoLine	200		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$13.96	1
	FilterLine Set	Adult/Pediatric	200		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	EACH	\$11.17	1
	LifePak 12/15 ECG 12 lead cable	11110-000022	12		NO BID		#VALUE!	#VALUE!	ļ	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$127.69	-!
179	LifePak 12/15 ECG Main trunk	11110-000018	6		NO BID		#VALUE!	#VALUE!	·}	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$319.24	
180	LifePak 12 ECG NIBP 9ft hose LifePak 12/15 Paper	11996-000033	7		NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI	EACH	NO BID \$1.98		#VALUE! \$ 1,9800	#VALUEI \$ 1,980,0000	<b>├</b> ────┤	NO BID		#VALUEI #VALUEI	#VALUE! #VALUE!	EACH BOX	\$51.87 \$9.10	
STORE		The second states white	1000		SHARE TO BID	XA	Stand Street	WALUE!	LACH SH	1.50 1.50	Windonsons	\$ 1.5000	\$ 10.535.63	Sec.	ROW AND	une contraction	SHOW MAN A	\$149.885:19		90.10 8193.50.00180	State of the
	Angiocath	12 Ga X 3"	25		NO BID		#VALUE!	#VALUE!	EACH	\$16.75	1	\$ 16.7500	\$ 418.7500	BOX	\$153.93	10	\$ 15,3930	\$ 384.8250	EACH	\$15.81	1
		15 Ga	8		NO BID		#VALUE!	#VALUE!	EACH	\$9.87	1	\$ 9.8700	\$ 78.9600		\$7.94	1	\$ 7.9400		EACH	\$19.59	1
184	Bone Morrow Needle I/O	18 Ga	8		NO BID		#VALUE!	#VALUE!	EACH	\$9.87	1	\$ 9.8700	\$ 78.9600	EACH	\$7.94	1	\$ 7,9400	\$ 63.5200	EACH	\$19,59	1
		14 Ga	400		NO BID		#VALUEI	#VALUEI	BOX	\$93.00	50	\$ 1.8600	\$ 744.0000	BOX	\$86.67	50	\$ 1.7334		EACH	\$1,65	1
186		16 Ga	600		NO BID		#VALUE!	#VALUE!	BOX	\$93.00	50	\$ 1.8600	\$ 1,116.0000	BOX	\$86.67	50	\$ 1.7334	\$ 1,040.0400	EACH	\$1.65	1
187		18 Ga	1500		NO BID		#VALUEI #VALUEI	#VALUEI #VALUEI	BOX	\$93.00	50	\$ 1.8600	\$ 2,790.0000	BOX	\$86.67	50	\$ 1.7334	\$ 2,600.1000	EACH	\$1.65	
188		20 Ga 22 Ga	1500 800		NO BID		#VALUE!	#VALUE!	BOX	\$93.00 \$93.00	50 50	\$ 1.8600 \$ 1.8600	\$ 2,790.0000 \$ 1,488.0000	BOX	\$86.67 \$86.67	50 50	\$ 1.7334 \$ 1.7334	\$ 2,600.1000 \$ 1,386.7200	EACH	\$1.65	
		24 Ga	600		NO BID		#VALUE!	#VALUE!	BOX	\$93.00	50	\$ 1.8600	\$ 1,116.0000	BOX	\$86.67	50	\$ 1,7334	\$ 1,040,0400	EACH	\$1.65	
191	Needles	21 Ga X 1"	400		NO BID		#VALUEI	#VALUE!	BOX	\$3,79	100	\$ 0.0379	\$ 15,1600	BOX	\$3.24	100	\$ 0.0324	\$ 12,9600	BOX	\$2.43	100
2000	OXYGEN DELIVERY	Full and a subscription of the	Wester State	Sector Str. St.	<b>的资料</b> 于 - 12	法弗雷巴勒古帕德	San and a state of the	WALUEISA	156. 33. 45 85	第二、日本の	编合心的例	Second a second	\$2423,787.00	etanistics in the		Sec. P.Sealer	AND ROOMING	\$ 4,348,20	WASHING N	(All All All All All All All All All All	886707383390
	Aerosol Mask	Infant	100		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
	Aerosol Mask	Pediatric	100		NO BID		#VALUE!	#VALUE!	CASE	\$26.00	50	\$ 0.5200	\$ 52.0000	EACH	\$0.82	1	\$ 0,8200	\$ 82.0000	EACH	\$0.45	
	Aerosol Mask	Adult	200		NO BID		#VALUEI #VALUEI	#VALUEI #VALUEI	CASE	\$26.00	50	\$ 0.5200 \$ 12.8800	\$ 104.0000 \$ 154.5600	EACH	\$0.50 \$12,17	1	\$ 0.5000 \$ 12.1700	\$ 100,0000 \$ 146,0400	EACH	\$0.36	
195 196	BVM	Pediatric	12		NO BID		#VALUE!	#VALUE!	EACH	\$12.80		\$ 12.8800	\$ 154.5600		\$12.17		\$ 12,1700	\$ 146,0400		\$14,35	
197		Aduit	84		NO BID		#VALUE!	#VALUE!	EACH	\$9.70		\$ 9,7010	\$ 814.8840	EACH	\$9.18	<u>i</u>	\$ 9.1800	\$ 771,1200	EACH	\$11,43	
198	CPAP Set w/ Med Mask	P/N 313-7059X	75		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	·····	#VALUE!	#VALUE!		NO BID	<u> </u>
199	CPAP Large Mask Only	P/N 313-7030	75		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID	
	CPAP Filler	P/N 313-7043	75		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUEI	ļ	NO BID		#VALUE!	#VALUE!	L	NO BID	
	CPAP *T* Adapter	P/N 313-2230	75		NO BID		#VALUE!	#VALUE!	10105	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	FACU	NO BID	
202	Nasal Canula	Infant, non flared	100 150		NO BID	<u> </u>	#VALUE! #VALUE!	#VALUE! #VALUE!	CASE	\$16.00	50 50	\$ 0.3200 \$ 0.3200	\$ 32,0000 \$ 48,0000		\$0,93 \$0.93		\$ 0.9300 \$ 0.9300	\$ 93,0000 \$ 139,5000	EACH	\$0.76	
203	Nasal Canula Nasal Canula	Pediatric, non flared	5000		NO BID		#VALUE!	#VALUEI	CASE	\$13.00	50	\$ 0.3200			\$0.93	<u>├</u>	\$ 0.9300 \$ 0.2900		and the second second	\$0.37	
204	Nebulizer with Mouthpiece/Tubing		100		NO BID		#VALUE	#VALUE1	CASE	\$46.00	50	\$ 0.9200	\$ 92.0000		\$0.93	<u> </u>	\$ 0,9300		EACH	\$0.69	
206	Non-Rebreather Mask	Infant	50		NO BID		#VALUE!	#VALUE!	CASE	\$191.00	50	\$ 3.8200	\$ 191.0000		\$4.16	1	\$ 4,1600		EACH	\$0.94	1
207	Non-Rebreather Mask	Pediatric	150		NO BID		#VALUE!	#VALUE!	CASE	\$38.00	50	\$ 0.7600	\$ 114.0000	EACH	\$1.33	1	\$ 1.3300	\$ 199.5000	EACH	\$0.73	1
208	Non-Rebreather Mask	Adult	1000		NO BID		#VALUE!	#VALUE!	CASE	\$36.50	50	\$ 0.7300	\$ 730.0000		\$0.92	1	\$ 0.9200	\$ 920.0000	EACH	\$0.69	1
Arrest	OXYGEN EQUIPMENT	and a sussement of months and		14.40° 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.	A-948-12-945	glada (* 1773)	NATE AND A DEP	##WALUEIN	(ST) Station	1 CONTRACTOR	0	the second s	\$**************************************	Resta Color H	62890 A 194	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	JEGAL LA STRATES		the ness of	<b>、</b> 保持公司,由某地理由	200320.5
209	Barbed Fitting, Plastic		20	ļ	NO BID		#VALUEI	#VALUEI	ETON L	NO BID	j	#VALUEI	#VALUEI	EACH	\$0,42		\$ 0,4200	\$ 8,4000	EACH	\$0.37	
210	D Cylinder Wrench, Plastic	1/8" Male NPT	12		NO BID	<u> </u>	#VALUE!	#VALUE! #VALUE!	EACH	\$0.89 NO BID	<u> </u>	\$ 0.8900 #VALUE!	\$ 10.6800 #VALUE!	EACH	\$0.76	+	\$ 0.7600 \$ 11.5700	\$ 9.1200 \$ 69.4200		\$0.74 \$12.72	
211	Oxygen Fitting, Ohmeda Oxygen Fitting, Ohmeda	1/8" Female NPT	6		NO BID		#VALUE	#VALUE!	+	NO BID	<u> </u>	#VALUE!	#VALUE!	EACH	\$26.14	<u>├</u>	\$ 26,1400		L'UCT	NO BID	'
213		0 - 15 LPM	12	t	NO BID	l	#VALUEI	#VALUE!	EACH	\$71,89	1	\$ 71.8900	\$ 862.6800	EACH	\$29.57	1	\$ 29.5700		EACH	\$21,18	1
	Oxygen Flow Selector Valve	0 - 25 LPM	10		NO BID		#VALUE!	#VALUE!	EACH	\$77.89	1	\$ 77.8900	\$ 778.9000		\$49.26	1	\$ 49.2600		1	NO BID	
215	Oxygen Regulator, 2 DISS, 1 BARB	0 - 25 LPM	6		NO BID		#VALUE!	#VALUE!	EACH	\$30.60	1	\$ 30.6000	\$ 183.6000	EACH	\$93.84	1	\$ 93.8400	\$ 563.0400		\$28.68	1
74.4	PHARMACEUTICALS			and which have		Station and	aderia da terra de	₩#VALUEIse	the second s				\$**10,374.95	WYARACAL MA	in hadden the	No which the second	and the second se	WALUEL	E Ballar Ball (1 - 18	e dellager motor:	all when the
216	Adenosine	6mg, 2ml Vial	80	I	NO BID	1	#VALUE!	#VALUE!	EACH	\$6.28	1	\$ 6.2800	\$ 502.4000	I	NO BID	L	#VALUE!	#VALUE!	1	NO BID	

Contract Management Prepared by Dawn Krass

### Bid Tabulation (Revised November 20, 2013)

### Bids Opened 9/25/13

erectuerilyame					10007 1000	CETOTORIO CELESCO					Extended P Piles(piles)				(CON)9212 (CON)	RECEILE RECEILE UND			uantity ixitiat
tom State Party of the second second			Case	Reference Manager		ماريني ومساحة المراجع المراجع محمد المراجع ال					<b>新学生的主要</b>					میں دیارہ مسلمان		Cucil	1.44
217 Albuterol 0.083%	2.5mg, 3ml Vial	20		NO BID	#VALUE!	#VALUEI	BOX	\$4,79	25	\$ 0.1916	\$ 3.8320		IO BID		#VALUE!	#VALUE1	T	NO BID	
218 Amidate	40mg, 20ml Lifeshield	40		NO BID	#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUEI		NO BID		#VALUEI	#VALUEI		NO BID	
219 Amiodarone	150mg, 3ml Vial	80		NO BID	#VALUE!	#VALUE!	EACH	\$6.90	1	\$ 6.9000	\$ 552.0000		NO BID		#VALUEI	_#VALUE!		NO BID	
220 Atropine	1mg, 10ml Lifeshield	150		NO BID	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	ļ	NO BID	
221 Ammonia Inhalant	10 per Box	80		NO BID	#VALUE!	#VALUE!	BOX	\$1.12	10	\$ 0.1120	\$ 8.9600		IO BID		#VALUE!	#VALUE!	ļ	NO BID	
222 Aspirin, Chewable 223 Atropine Sulfate	81mg Bottle 1mg, 10ml Lifeshield	100 150		NO BID	#VALUE! #VALUE!	#VALUE! #VALUE!	BOTTLE	\$0.76 \$5.45	36	\$ 0.0211	\$ 2,1111		NO BID		#VALUEI #VALUEI	#VALUE!		NO BID	
224 Calcium Chloride	1am, 10ml Lifeshield	20		NO BID	#VALUE	#VALUEI	EACH	NO BID	1	\$ 5.4500 #VALUE!	\$ 817.5000 #VALUE!				#VALUE	#VALUE!		NO BID	
225 Charcoal	50am Bottle	20		NO BID	#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!				#VALUE	#VALUEI		NOBID	
226 Cyanokit 5 G Hydroxocobalamin	login abaic	7		NO BID	#VALUE!	#VALUE!	1	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE	#VALUE!		NO BID	
227 Dextrose 50%	25gm, 50ml Lifeshield	150		NO BID	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!		VO BID		#VALUE!	#VALUE!	1	NO BID	
228 Diphenhydramine	50mg Carpuiect	300		NO BID	#VALUEI	#VALUEI		NO BID		#VALUE!	#VALUE!		VO BID		#VALUE1	#VALUE!		NO BID	
229 Dopamine, D5W	400mg, 250ml	28		NO BID	#VALUEI	#VALUE!	EACH	\$11.25	1	\$ 11,2500	\$ 315.0000		NO BID		#VALUE!	#VALUE!	1	NO BID	
230 Epinephrine, 1:1000	1ml Ampule	300		NO BID	#VALUEI	#VALUE!	EACH	\$2.96	1	\$ 2,9600	\$ 888.0000		VO BID		#VALUE!	#VALUE!	1	NO BID	
231 Epinephrine, 1:10,000	Lifeshield	400		NO BID	#VALUE!	#VALUE!	EACH	\$7.32	1		\$ 2,928.0000		NO BID		#VALUE!	#VALUE!		NO BID	
232 Furosemide	40mg, 4ml Vial	200		NO BID	#VALUE!	#VALUE!	EACH	\$1.00	1	\$ 1.0000	\$ 200.0000		NO BID		#VALUE!	#VALUE!		NÓ BÍD	
233 Glucagen	1mg	25		NO BID	#VALUE!	#VALUE!	l	NO BID		#VALUE!	#VALUE!		VO BID		#VALUE!	#VALUEI	I	NO BID	
234 Giutose 15	3 per Pack	80		NO BID	#VALUE1	#VALUE!	ļ	NO BID		#VALUE!	#VALUE!		VO BID		#VALUE!	#VALUE	I	NO BID	
235 Ipratropium Bromide 0.025%	2.5ml Vial	20		NO BID	#VALUE	#VALUE!	l	NO BID		#VALUE!	#VALUE!		VO BID		#VALUE!	#VALUE	l	NO BID	
236 Labetalol 237 Lidocaine 2%	100mg, 20ml Vial 100mg, 5ml Liteshield	40		NO BID	#VALUEI #VALUEI	#VALUE!	<b>├</b> ──	NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI		VO BID		#VALUE! #VALUE!	#VALUEI	+	NO BID	
238 Magnesium Sulfate	1gm, 2ml Vial	75		NO BID	#VALUEI	#VALUE!		NO BID		#VALUE	#VALUEI		NO BID		#VALUE!	#VALUEI #VALUEI		NO BID	
239 Metoproiol	5mg, 5ml Vial	80		NO BID	#VALUEI	#VALUE!	t	NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUEI		NO BID	
240 Naloxone	2mg, 2ml Lifeshield	80		NO BID	#VALUE!	#VALUE!	EACH	\$18.75	1	\$ 18,7500	\$ 1,500.0000				#VALUE!	#VALUEI		NO BID	
241 Nitroglycerin Ointment 2%	30gm	10		NO BID	#VALUE!	#VALUE!		NO BID		#VALUE	#VALUE!				#VALUE!	#VALUE!		NO BID	
242 Nitroglycerin Tablets	0.4mg tablets	40		NO BID	#VALUEI	#VALUE!	BOTTLE	\$29,59	25	\$ 1,1836	\$ 47,3440		NO BID		#VALUE!	#VALUEI		NO BID	
243 Ondansetron	4mg, 2ml iSecure	200		NO BID	#VALUEI	#VALUE!		NO BID		#VALUE	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID	
244 Propotol	10mg/ml, 50ml Vial	20		NO BID	#VALUE!	#VALUE!	EACH	\$17.59	1	\$ 17.5900	\$ 351.8000		NO BID		#VALUE!	#VALUEI		NO BID	
245 Quelicin	200mg, 10ml Vial	75		NO BID	#VALUE!	#VALUE!	EACH	\$6.65	1	\$ 6.6500	\$ 498.7500		NO BID		#VALUE!	#VALUE!		NO BID	
246 Rocuronium	10mg/ml, 10ml Vial	50		NO BID	#VALUE!	#VALUE!	EACH	\$9.95	1	\$ 9.9500	\$ 497.5000		NO BID		#VALUE!	#VALUE!		NO BID	
247 Sodium Bicarbonate 8.4%	50ml Lifeshield	100		NO BID	#VALUE!	#VALUE!	EACH	\$7.42	1	\$ 7.4200	\$ 742.0000		NO BID		#VALUE!	#VALUE!		NO BID	
248 Solu-Medrol	125mg, 2ml Vial	75		NO BID	#VALUE!	#VALUE!	EACH	\$6.93	1		\$ 519.7500		NO BID		#VALUE!	#VALUE!		NO BID	
249 Terbutaline	1mg, 1ml Vial	80		NO BID	#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID	
PPE States and a series of the			Ref. Materia and Angle	March 1999 - 1999 - 1994		****VALUEI		-	the standards	where we are the state	\$ 159.03			るなるのな	<b>Addrest manufactured</b>			新来21年3月4日(	SC 95 8 1
250 Germicidal Disposable Wipes	160 per Tub	24		NO BID	#VALUE!	#VALUE1	TUB	\$6.52	160	\$ 0.0408	\$ 0.9780	TUB	\$5.34	160	\$ 0.0334	\$ 0.8010		\$5.52	160
251 Gloves, Small 252 Gloves, Medium	Sterling Xtra Nitrile Sterling Xtra Nitrile	80 200		NO BID NO BID	#VALUE! #VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE! #VALUE!	BOX	\$9.57	100	\$ 0.0957	\$ 7.6560		\$10.23	100
253 Gloves, Mediani	Sterling Xtra Nitrile	500		NOBID	#VALUEI	#VALUE! #VALUE!		NO BID		#VALUE! #VALUE!	#VALUE!	BOX BOX	\$9.57 \$9.57	100	\$ 0.0957 \$ 0.0957	\$ 19,1400 \$ 47,8500		\$10.23	100
254 Gloves, X-Large	Sterling Xtra Nitrile	400		NOBID	#VALUEI	#VALUEI	+	NO BID		#VALUE!	#VALUE!	BOX	\$9.57	100	\$ 0.0957	\$ 38,2800		\$10.23	100
255 Mask, Molded Pre-Formed	Dioning Park Indine	100		NO BID	#VALUEI	#VALUEI	BOX	\$4,70	50	\$ 0.0940	\$ 9,4000	BOX	\$3,69	50	\$ 0.0738	\$ 7,3800		\$71.42	1000
256 N95 Respirator	P/N 9211	28		NO BID	#VALUE!	#VALUE!	BOX	\$15.39	10	\$ 1.5390	\$ 43,0920		\$2.34	1	\$ 2.3400			\$182.42	120
257 O. B. Kits, Latex Free		14		NO BID	#VALUE!	#VALUEI	EACH	\$6.10	1	\$ 6.1000	\$ 85,4000		\$4,11	1	\$ 4,1100		EACH	\$4.89	1
258 Protective Gown		14		NO BID	#VALUE!	#VALUEI	CASE	\$16.50	50	\$ 0.3300			\$3.67	10	\$ 0.3670			\$10.62	15
		1				1						11							
						1													
260 Protective Shoe Covers		14	l	NO BID	#VALUE!	#VALUE!	CASE	\$9.25	150	\$ 0.0617	\$ 0.8633	CASE	\$15.74	150	\$ 0.1049		CASE	\$13.79	300
261 Protective Sleeves		28		NO BID	#VALUEI	#VALUEI	CASE	\$13.12	100	\$ 0.1312	\$ 3.6736		\$47.56	100	\$ 0.4756	\$ 13.3168		\$70.80	200
262 Quick Care Hand Sanitizer	7 oz	50		NO BID	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$42.87	12	\$ 3.5725			\$53.46	12
263 Quick Care Holder	7 oz	14		NO BID	#VALUE!	#VALUE!	-	NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI	CASE	No Charge	12
264 Safety Glasses	Meets ANSI Z87.1	10	a antipit day in the state	NO BID	#VALUE!	#VALUE!	BOX	\$11.00		\$ 1.1000	\$ 11.0000		\$1.31	1	\$ 1.3100		EACH	\$3.15	1
		2 19853-005 10	the west to the	NO BID	#VALUE!	€ ₩<#VALUE	EACH		Experience and	and the second se	\$297:50			un states				Contract A	aner mer e
265 Bulb Syringe 266 Meconium Aspirator	2 Ounce	10		NO BID	#VALUE!	#VALUE!	EACH	\$0.88 \$3.97		\$ 0.8800 \$ 3.9700	\$ 8.8000 \$ 39.7000		\$0.31 \$3.93	1	\$ 0.3100 \$ 3.9300			\$0.31	_ <u>-</u>
267 Nasogastric Tube	8 FR	20		NO BID	#VALUE!	#VALUE!	LACH	NO BID	1	\$ 3.9700 #VALUE1	≱ 39.7000 #VALUEI	EAUN -	NO BID		\$ 3.9300 #VALUE!	\$ 39.3000 #VALUE!	EACH	\$4.24	
268 Nasogastric Tube	12 FR	20	t	NO BID	#VALUE!	#VALUE!	+	NO BID		#VALUE!	#VALUEI	EACH	\$2.16	1	\$ 2.1600		EACH	\$6.13	
269 Nasogastric Tube	16 FR	20		NO BID	#VALUE!	#VALUE!	· [	NO BID		#VALUE! #VALUE!	#VALUE!	EACH	\$2.16		\$ 2.1600			\$1.75	
270 Safe-T-Vac Suction Catheter	5 FR	20	t	NO BID	#VALUE!	#VALUE!	+	NO BID		#VALUEI	#VALUE!	tenon	NO BID		#VALUE1	#VALUE!	EACH	\$1.75	
271 Safe-T-Vac Suction Catheter	10 FR	20	1	NO BID	#VALUE	#VALUE	1	NO BID		#VALUEI	#VALUEI	t	NO BID		#VALUEI	#VALUE!	EACH	\$0.17	
272 Safe-T-Vac Suction Catheter	14 FR	20		NO BID	#VALUE	#VALUEI	1	NO BID		#VALUEI	#VALUEI		NO BID		#VALUEI	#VALUEI	EACH	\$0.17	$-\frac{1}{1}$
273 Safe-T-Vac Suction Catheter	18 FR	20	1	NO BID	#VALUE	#VALUEI	1	NO BID	t	#VALUE!	#VALUEI		NO BID		#VALUEI	#VALUEI	EACH	\$0.17	
274 Suction Canister	1200cc	60	1	NO BID	#VALUE!		EACH	\$3.09	1		\$ 185.4000		\$3.01	1	\$ 3.0100			\$2.63	
terre and the second difference of the second			•	• • • • • • • • • • • • • • • • • • •				40.00										1	id

Contract Management Prepared by Dawn Krass

### Bid Number NC13-040 Medical Supplies

### Bid Tabulation (Revised November 20, 2013)

### Bids Opened 9/26/13

	ProductiNamu		1.50	Unicol	no/ lou		<b>BRIDESCE</b>	Unito	United	en filly	Coal Parel	Extended	Unition	TUNINON	Quantity	GostRei	Extended		Unlipot	Quantity
			ULLEDO				C COLOR	0.0001	Con C		ucm	Constant Con	(DED)	COL		ur.m	1 400 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	(Coop)	COL	Measure
275	Suction Tubing	1/4* X 6'	60	NO I	BID JIE	#VALUE	#VALUE!	CASE	\$33,50	50	\$ 0.6700	\$ 40,2000	EACH	\$0.77	1	\$ 0.7700	\$ 46.2000	EACH	\$0.75	1
	Yankauer Suction Tip	With Control Vent	60	NO	BID	#VALUEI	#VALUE!	EACH	\$0.39	1	\$ 0.3900	\$ 23,4000	EACH	\$0.38	1	\$ 0.3800	\$ 22.8000	EACH	\$0.36	1
*	SYRINGES	Constant State State State State	the manager	<b>的有效的变法 金属</b>	10.00 at 10	A STATE AND AN A STATE AND A S	<b>这条#VALUE</b> I發展	State State	HAR DO FOR A HAR	are rischer	的问题的现在分词	\$ 200 0124.10	Constanting	WCARSON A	23.35 Mar 14	States and the	STREAT 01654	ALL SHARES	Settonics (SEE	STATISTICS.
277	Mucosal Atomization Device (MAD)	(w/o syringe)	20	NO	BID	#VALUE!	#VALUEI	EACH	\$3.90	1	\$ 3.9000	\$ 78,0000	EACH	\$3.19	1	\$ 3.1900	\$ 63.8000	EACH	\$3.29	1
278	Syringe, Luer Loc	20ml	60	NO I	BID	#VALUE!	#VALUEI	BOX	\$12.36	50	\$ 0.2472	\$ 14.8320	BOX	\$10.71	50	\$ 0.2142	\$ 12.8520	BOX	\$20.30	100
279	Syringe, Luer Loc	60ml	60	NO	BID	#VALUE	#VALUE!	BOX	\$11.88	25	\$ 0.4752	\$ 28.5120	BOX	\$10.37	25	\$ 0.4148	\$ 24,8880	BOX	\$11.92	25
280	Syringe with Needle	1ml 27 Ga X 1/2*	30	NO	BID	#VALUE	#VALUE!	BOX	\$9.20	100	\$ 0.0920	\$ 2,7600		NO BID		#VALUEI	#VALUE!	BOX	\$17.77	100
****	TWINPAK	AND SHAME STREET ST.		金属 建合成 医子宫 化化学 化化学学 化化学学 化化学学 化化学学 化化学学 化化学学 化化学	Service in the	warden waarden werden	WWWWALLEIM	Barrer March March	<b>和</b> .代达希望的	能分子的复数	制作品的目的形式	\$241 926,80	<b>新闻</b> 的行为。148	South and the	THRON AND AND	State The Address of the	\$ 5181 665.68		N MALANI	\$91968*Ya
281	TwinPak	P/N 303390	4000	NO	BID	#VALUE!	#VALUE!	BOX	\$48.17	100	\$ 0.4817	\$ 1,926.8000	BOX	\$39.89	100	\$ 0.3989	\$ 1,595.6000	BOX	\$41.12	100
282	TwinPak with Syringe, 3ml	P/N 303391	50	NO	BID	#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUE!	BOX	\$43.82	100	\$ 0.4382	\$ 21.9100	CASE	\$361.48	800
283		P/N 303392	50	NO	BID	#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$46,71	100	\$ 0.4671	\$ 23.3550		\$192.65	400
284	TwinPak with Syringe, 10ml	P/N 303393	50	NO	BID	#VALUE!	#VALUE!	T	NO BID		#VALUE!	#VALUE!	BOX	\$49.62	100	\$ 0,4962	\$ 24.8100	CASE	\$204,65	400

"Twinpaks no longer used so not being awarded Recommended Vendors

Jical Supply				Boundtree	Medical			Ken	tron Heal	th Care Inc				Quadme	d, Inc		r		Henry Sch	ein Inc	
CostiRer	Extended (Erice	Unitiou		Quantity		ExtendediRdce	Unitori	Unition	appendity.		Editmical 1	Uniliol	Unition	Quantity	CostiPenel	Extended	Unition	Unicon	COUNTRY	CONTROL	Extended
		ru nas		ji Je	山顶	(COD)	2.5.000	Classical.	125	littin	Arespir -	TECTRO 1	(Como)	$\mathbb{C}$	all the last	- CUE SPIT	12:1100	CITATION C	(2.5)	it and	- Pricipar -
		106555	(5,7,1)	CLOPED			0.0000	ÇCU I	rituni		action of	COST .	Corie	12 mente		- dell'to	C. D. D.	(T)	2010 and		Ucago o
WING STREET	Site 4 102:68	ATT L		n - en sente sente Referir i Skanner		11	(*) [ Jhan and	COST CONTRACT	alalaria and	and the second sec	D. STELL	FTDL	and we know the set	State of the second		\$ MAR 3 863:34			1		S1413/372.24×
\$ 0.1426			\$0.70		\$ 0.1400			\$8,75	50	13 00 13504	110001162001	EACH	\$0.21		\$ 0.2100	\$ 2.5200	EACH	\$0.14		\$ 0.1400	\$ 1.68
\$ 0.1426	\$ 1.7112		\$0.70	5	<b>v</b>		BOX	\$6.75			Si (162-00)	EACH	\$0.21	1	\$ 0.2100	\$ 2.5200	EACH	\$0.26	1	\$ 0.2600	\$ 3.12
\$ 0.1426	\$ 2.2816		\$0.70		\$ 0.1400	\$ 2.2400		\$6.75			S1000000000000000000000000000000000000		\$0.21		\$ 0.2100	\$ 3.3600	EACH	\$0.13	1	\$ 0.1300	\$ 2.08
\$ 0.1426			\$0.70		\$ 0.1400		BOX	\$6.75		B ONEOU		EACH	\$0.21		\$ 0.2100	\$ 4.2000	EACH	\$0.26		\$ 0.2600	\$ 5.20
\$ 0.1426 \$ 0.1426			\$0.70		\$ 0.1400 \$ 0.1400	\$ 2.8000 \$ 2.6000	BOX	\$6.75 \$6.75		15 051850. 15 051850.	370001 3. 270001	EACH EACH	\$0.21		\$ 0.2100 \$ 0.2100	\$ 4,2000 \$ 4,2000	EACH	\$0.14 \$0.14		\$ 0.1400 \$ 0.1400	\$ 2.80 \$ 2.80
\$ 0.1426			\$0.70		\$ 0.1400	\$ 1.6800	BOX	\$6.75	50	1300018501	10200	EACH	\$0.21		\$ 0.2100	\$ 2,5200	EACH	\$0.14	1	\$ 0,1400	
\$ 0.1426			\$0.70		\$ 0.1400	\$ 1.6800	BOX	\$6.75	50	\$ 660 1350	St. 80116200	EACH	\$0.21		\$ 0.2100	\$ 2.5200	EACH	\$0 14	1	\$ 0.1400	
\$ 4.0300			NO BID		#VALUE!	#VALUE!	BOX	\$5.90	10		EL LEKODOD		\$14.91			\$ 149.1000	EACH	\$0.88	1	\$ 0.8800	
\$ 3.4400	\$ 344.0000		\$1.41		\$ 1.4100		BOX	\$5.90	and the second se	12 0 5900 h	10000188.00001	BOX	\$14.91			\$ 149.1000		\$0.88		\$ 0.8800	\$ 88.00
\$ 1.4000	\$ 140.0000 \$ 140.0000		\$1.41		\$ 1.4100 \$ 1.4100	\$ 141.0000 \$ 141.0000	BOX	\$5.90		EL 06200		BOX	\$14,91 \$14,91		\$ 1.4910 \$ 1.4910	\$ 149.1000 \$ 149.1000	EACH	\$0.88		\$ 0.8800 \$ 0.8800	\$ 88.00 \$ 88.00
\$ 1,4000		EACH	\$1,41	1	\$ 1,4100	\$ 141,0000	BOX	\$5.90	10		59,0000		\$14.91		\$ 1,4910	\$ 149,1000	EACH	\$0.68		\$ 0.8800	\$ 88.00
\$ 1,4000	\$ 140.0000		\$1.41	1	\$ 1.4100			\$5.90		3 0169001	F. EROEI	BOX	\$14.91			\$ 149.1000		\$0.88	<u> </u>	\$ 0.8800	\$ 88.00
\$ 1.4000	\$ 140.0000	EACH	\$1.41	1	\$ 1.4100	\$ 141.0000	BOX	\$5.90	10	15 00 015900 I	50(0000)	BOX	\$14.91	10	\$ 1.4910	\$ 149.1000	EACH	\$0.88	1	\$ 0.8800	\$ 88.00
\$ 1.4300	\$ 143.0000		\$1,41	1	\$ 1.4100	\$ 141.0000		\$6.70			E 267(0000)		\$14.91		\$ 1.4910	\$ 149,1000		\$0.93	1	\$ 0.9300	\$ 93.00
\$ 1.4300	\$ 143.0000		\$1.41		\$ 1.4100	\$ 141.0000		\$6.70	10		5 67.00001		\$14.91		\$ 1.4910	\$ 149,1000		\$0.93		\$ 0.9300	\$ 93.00
\$ 1.4300 \$ 1.4300	\$ 214.5000 \$ 214.5000	EACH	\$1.41 \$1.41		\$ 1.4100 \$ 1.4100	\$ 211.5000 \$ 211.5000		\$6.70	10 10		\$ 00.5000		\$14.91 \$14.91		\$ 1.4910 \$ 1.4910	\$ 223.6500 \$ 223.6500		\$0.93 \$0.93		\$ 0.9300 \$ 0.9300	\$ 139.50 \$ 139.50
\$ 1.4300	\$ 214.5000		\$1.41		\$ 1,4100	\$ 211.5000		\$6.70	10		\$ 100,5000		\$14.91	_	\$ 1,4910	\$ 223,6500		\$0.93		\$ 0.9300	\$ 139.50
\$ 1.4300	\$ 214.5000		\$1.41	1		\$ 211.5000		\$6.70	10				\$14.91		\$ 1.4910	\$ 223,6500		\$0.93	1	\$ 0.9300	\$ 139.50
\$ 1.4300	\$ 143.0000	EACH	\$1.41	1	\$ 1.4100	\$ 141.0000	BOX	\$6.70	10	0.67001		BOX	\$14.91	10	\$ 1.4910	\$ 149.1000		\$0.93	1	\$ 0.9300	\$ 93.00
\$ 1.4300	\$ 143.0000		\$1.41	1	\$ 1.4100	\$ 141.0000		\$6.70	10		\$4.867.0000	BOX	\$14.91		\$ 1.4910	\$ 149.1000		\$0.93	1	\$ 0.9300	\$ 93.00
\$ 1.5100	\$ 60,4000		\$1.20	1	\$ 1.2000	\$ 48.0000		\$12.90	10		\$ 51,51,5000	BOX	\$17,43	10	\$ 1.7430	\$ 69.7200		\$1.87	1	\$ 1.8700	
\$ 1.5100 \$ 1.5100	\$ 60.4000 \$ 60.4000		\$1.20 \$1,20	1	\$ 1.2000 \$ 1.2000			\$12.90	10		\$ 51:5000		\$23.86 \$23.86	10	\$ 2.3860 \$ 2.3860	\$ 95.4400 \$ 95.4400		\$1.87 \$2.58	1	\$ 1.8700 \$ 2.5800	\$ 74.80 \$ 103.20
\$ 1,5100	\$ 60.4000		\$1.20	1	\$ 1.2000	\$ 48.0000		\$12.90	10		\$ 1005116000		\$23.86	10	\$ 2,3860	\$ 95.4400		\$2.50		\$ 2.5100	\$ 100.40
\$ 1.5100	\$ 60,4000		\$1.20	1	\$ 1.2000	\$ 48.0000		\$12.90	10	\$ 9981129001		BOX	\$14.79		\$ 1.4790	\$ 59.1600		\$2.28	1	\$ 2.2800	\$ 91.20
\$1.5100	\$ 60.4000	EACH	\$1.20	1	\$ 1.2000	\$ 48.0000	BOX	\$12.90	10	12900	5 51:6000	BOX	\$14.79	10	\$ 1.4790	\$ 59.1600	EACH	\$2.26	1	\$ 2.2600	\$ 90.40
\$ 1.5100	\$ 120.8000	EACH	\$1.20	1	\$ 1.2000	\$ 96.0000		\$12.90	10		S 10103:2000	BOX	\$14.79		\$ 1.4790			\$2.27	1	\$ 2.2700	\$ 181.60
\$ 1.5100	\$ 120.8000	EACH	\$1.20	1	\$ 1.2000	\$ 96.0000		\$12.90	10	S.M. 112900		BOX	\$14,79		\$ 1.41.00	\$ 118.3200		\$2.27	1	\$ 2.2700	\$ 181.60
\$ 1.5100 \$ 1.5100	\$ 120.8000 \$ 120.8000	EACH EACH	\$1.20		\$ 1,2000 \$ 1,2000	\$ 96.0000 \$ 96.0000	BOX	\$12.90 \$12.90	10		(\$00103:2000) (\$90103:2000)		\$14.79	10 10	\$ 1.4790 \$ 1.4790	\$ 118.3200 \$ 118.3200		\$2.27	1	\$ 2.2700 \$ 2.2600	\$ 181.60 \$ 180.80
\$ 1.5100	\$ 120.8000	EACH	\$1.20		\$ 1,2000	\$ 96.0000	BOX	\$12.90	10		(\$ 103:2000)		\$14.79		\$ 1,4790	\$ 118.3200	EACH	\$2.27		\$ 2.2700	\$ 181.60
\$ 1.5100	\$ 120.8000		\$1.20	1	\$ 1.2000	\$ 96.0000		\$12.90	10		\$ 103:2000		\$14.79			\$ 118.3200		\$2.27	1	\$ 2.2700	\$ 181.60
\$ 1.5100	\$ 120.8000		\$1.20	1	\$ 1.2000	\$ 96.0000		\$12.90	10				\$14.79		\$ 1.4790	\$ 118.3200		\$2.27	1	\$ 2.2700	\$ 181.60
	\$*****1;117:18		-	BRA ANTON		\$ 1991 028.28		·安东小桥市市市	KONAL MA		1\$月前11457月4		Role of a place	<b>御法中学,</b> 》"是		\$ 41,345.61	100000000000			1+10405022344	\$ 1,266.88
\$ 0.3000	\$ 4.8000		\$0.23			\$ 8800 3,6800		\$1.80	10		the second se		\$0.46	1	\$ 0.4600 \$ 5.5190	\$ 7.3600 \$ 331.1400		\$2.30	10	\$ 0.2300	\$ 3.68
\$ 3.8700 \$ 0.0415	\$ 232.2000 \$ 8.2917		\$3.85	144		\$ 9 9 231.0000 4\$ 9 9 9 231.0000		\$57.00	20	\$ 2.8500 \$ 0.0413	\$ 171.0000 \$ 8.2639	BOX	\$55.19 \$5.84	10	\$ 5.5190 \$ 0.0406	\$ 331,1400 \$ 8,1111		\$7.17	144	\$ 7.1700 \$ 0.0400	\$ 430.20 \$ 8.00
\$ 3.6935	\$ 73.8700		\$1.93	1		15 38:6000	<u> </u>			#DIV/01	#DIV/01	<u> </u>	NO BID		#REF!	#REFI	EACH	\$3.30	1	\$ 3.3000	\$ 66.00
\$ 2.6600	\$ 266.0000	EACH	\$2.49	1	15 8 2/4900 i	SUN 249.0000		\$4.25	1	\$ 4.2500	\$ 425.0000		\$3.33	1	\$ 3.3300	\$ 333.0000	EACH	\$2.59	1	\$ 2.5900	\$ 259.00
\$ 2.6600	\$ 532.0000		\$2.49	1		IST 498.0000		\$4.25	1	\$ 4.2500	\$ 850.0000		\$3.33	1	\$ 3.3300	\$ 666.0000		\$2.60	1	\$ 2.6000	\$ 520.00
and the second se	***#VALUEI%#			CHER AND		\$ 8767:20	WARS'L'S	10423-3768	<b>X</b>	4.0.0	***VALUE		South Sector	800% Pt 1926		\$0.08,866.00	APR YOUND	AND NO	Beer Harry State	Contraction Market	###VALUEI
#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$29.80	├		4\$261192.0000 *\$761192:0000	<u> </u>	NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI	EACH	\$30.95 \$30.95	╋╋		\$ 1,238,0000 \$ 1,238,0000	<b> </b>	NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!
#VALUEI	#VALUE!	EACH	\$29.80	<u>├;</u>		\$381,276,8000		NO BID		#VALUE!	#VALUEI #VALUEI	EACH	\$30.95	<u>}</u>		\$ 1,238.0000	ł	NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI
#VALUE!	#VALUE!	EACH	\$31.92	1		15 102,553.6000	1	NO BID		#VALUE!	#VALUE!	EACH	\$30.95	1		\$ 2,476.0000	1	NO BID		#VALUE!	#VALUE!
#VALUE!	#VALUE!	EACH	\$31.91	1		1\$42,552.8000		NO BID		#VALUE!	#VALUE!	EACH	\$30.95	1		\$ 2,476.0000		NO BID		#VALUE!	#VALUE!
in which states	inst#VALUE	No Chias	e destado	<b>BARSANA</b>	REARING	\$#0*##958.BD	A STANKING	NA JANETS	bin the	the sector	\$1992833,40	20000000000000	Section is	<b>新</b> 有市民 前的	the second light	WALUE!	and the second second	the second se	<b>b</b> enderstation	er annerer v	\$11-2,513.28
	aliat 1 br	FACU					FACIL					1	LIGINIE		at at the	41/41/1071	FACIL				
#VALUE! #VALUE!	#VALUEI #VALUEI	EACH	\$7.00	<u>├</u>	\$ 7.0000 \$ 7.0000	\$ 42.0000 \$ 84.0000		\$5.95 \$5.95		\$ 5.9500 \$ 5.9500	\$ 35.7000 \$ 71.4000		NO BID	+	#VALUE! #VALUE!	#VALUE!	EACH EACH	\$19.04	1	\$ 19.0400 \$ 19.0400	\$ 114.24 \$ 228.48
#VALUEI	#VALUE!	EACH	\$7.00	<del>   </del>	\$ 7.0000	\$ 84.0000		\$5.95		\$ 5.9500	\$ 71,4000	l	NO BID	t	#VALUE!	#VALUEI	EACH	\$19.04		\$ 19.0400	\$ 228,48
#VALUE!	#VALUE!	EACH	\$7.00		\$ 7.0000	\$ 84.0000	EACH	\$5.95	1	\$ 5.9500	\$ 71.4000	1	NO BID	1	#VALUE!	#VALUE!	EACH	\$19.04	Ť	\$ 19.0400	\$ 228.48
#VALUEI	#VALUE!	EACH	\$7.00	1	\$ 7.0000	\$ 84.0000	EACH	\$5.95	1	\$ 5.9500	\$ 71.4000		NO BID		#VALUE!	#VALUE!	EACH	\$19.04		\$ 19.0400	\$ 228.48
#VALUE!	#VALUEI	EACH	\$7.00		\$ 7,0000	\$ 42.0000	EACH	\$5.95	1	\$ 5.9500	\$ 35.7000		NO BID		#VALUEI	#VALUE!	EACH	\$19.04	1	\$ 19.0400	\$ 114.24
#VALUE!	#VALUE!	EACH	\$7.00	1	\$ 7.0000	\$ 84.0000		\$5,95	1	\$ 5.9500	\$ 71.4000	ł	NO BID		#VALUE!	#VALUE!	EACH	\$19.04		\$ 19.0400	\$ 228.48
#VALUE	#VALUEI	EACH	\$7.00		\$ 7.0000	\$ 84.0000	EACH	\$5.95	1	\$ 5,9500	\$ 71.4000	1	NO BID	L	#VALUE!	#VALUE!	EACH	\$19.04	1	\$ 19.0400	\$ 228.48

Contract Management Prepared by Dawn Krass

Coel Partiel	atherender Atherender	United Quinnis Notar-			Central (Ch)	Prioridadi Brien Polytuagen		MC 1910	Quantity (21) Vaccura	(上) (上)済	Extended Richpin			Cuantilly Decay	Contror - illom	Extended Pricepor USOD	Unitor Unitor Unitor			COULOT	Ettendadie Grice per s Utago s
International Contents	1000 State 1	Frm.	A	معتمقصي	10000		CACILIA DE LA CACILIA	TO STORE STORE	2015 ALMOST	A 5 0500	71 4000		NO BID	をきば	MUALLIE .	#VALUE!	GATAN SA	\$19.04	4+81,5° 4+ 694-3	\$ 19.0400	\$ 228,48
#VALUE! #VALUE!	#VALUEI #VALUEI	EACH	\$7.00	1	\$ 7.0000 \$ 7.0000	\$ 84.0000 \$ 84.0000	EACH	\$5.95		\$ 5.9500 \$ 5.9500	\$ 71.4000 \$ 71.4000		NO BID		#VALUEI #VALUEI	#VALUEI	EACH	\$19.04		\$ 19.0400	\$ 228,48
#VALUE!	#VALUE!	EACH	\$8.45	1	\$ 8.4500	\$ 101.4000	EACH	\$7.95	1	\$ 7.9500	\$ 95.4000		NO BID		#VALUE!	#VALUEI	EACH	\$19.04	1	\$ 19.0400	\$ 228.48
#VALUE!	#VALUE!	EACH	\$8.45	1	\$ 8.4500	\$ 101.4000	EACH	\$7.95	1	\$ 7.9500	\$ 95.4000	ALARY TERM	NO BID		#VALUE!	#VALUEI	EACH	\$19.04		\$ 19.0400	\$ 228.48
\$ 0.3273	\$ 65.4667	CASE	\$9.82	and the second se		\$ 65,4667	CASE	\$9.30	30	\$ 0.3100	\$ 62,0000	BOX	\$9.88	1883.52 71. 30	\$ 0.3293	\$24915,849.29 \$ 65.8667	BOX	\$22.50	30	\$ 0.7500	\$ 150.00
\$ 0.6347	\$ 130,1181	CASE	\$22.29	36	\$ 0.6192	\$ 126.9292	CASE	\$19.80	36	\$ 0.5500	\$ 112,7500	BOX	\$23.68	36	\$ 0.6578	\$ 134,8444		\$48.96		\$ 1.3600	\$ 278.80
\$ 0.0089	\$ 2.2250		\$2.39	200	\$ 0.0120		CASE	\$47.90	4000	\$ 0.0120	\$ 2.9938	PACK	\$2.57	200	\$ 0.0129	\$ 3.2125		\$4.00	200	\$ 0.0200	\$ 5.00
\$ 0.0248	\$ 4.9600		\$0.05		\$ 0.0250	\$ 5.0000	CASE	\$34.90	1200	\$ 0.0291	\$ 5.8167	BOX	\$1.26	25	\$ 0.0504	\$ 10.0800		\$1.50	50	\$ 0.0300	\$ 6.00
\$ 0.0795 \$ 0.1325	\$ 1.9875 \$ 3.3125	TRAY	\$1.78 \$0.14	20	\$ 0.0890 \$ 0.0117	\$ 2.2250 \$ 0.2917	CASE	\$38.90	400 240	\$ 0.0973 \$ 0.1450	\$ 2.4313 \$ 3.6250	BOX	\$2.26 \$3.33	20	\$ 0.1130 \$ 0.2775	\$ 2.8250 \$ 6.9375		\$3.00		\$ 0.1200 \$ 0.1600	\$ 3.00 \$ 4.00
\$ 0.1317	\$ 3,2917	EACH	\$0,14	1	\$ 0.1400	\$ 3.5000		\$49.69	360	\$ 0.1380	\$ 3.4507		\$3.94	24	\$ 0.1642	\$ 4,1042		\$3.20	20	\$ 0.1600	\$ 4.00
\$ 9.5500	\$ 477.5000	EACH	\$9,12	1	\$ 9,1200	\$ 456.0000	CASE	\$91.89	10	\$ 9.1890	\$ 459.4500	EACH	\$9.30	1	\$ 9.3000	\$ 465.0000		\$9.27	1	\$ 9.2700	\$ 463.50
\$ 0.0130	\$ 13,0000	BOX	\$1,73	100	\$ 0.0173	\$ 17.3000		\$1.30	100	\$ 0.0130	\$ 13.0000	BOX	\$1.81	100	\$ 0.0181	\$ 18,1000		\$2.00	100	\$ 0.0200	\$ 20.00
\$ 1.2900	\$ 77,4000	EACH	\$2,34		\$ 2.3400 \$ 0.2596	\$ 140.4000 \$ 77.8750	CASE	\$35.76	24 24	\$ 1.4900	\$ 89.4000	CASE	\$2.64	1 24	\$ 2.6400 \$ 0.4146	\$ 158.4000 \$ 124.3750		\$1.66 \$6.48	24	\$ 1.6600 \$ 0.2700	\$ 99,60
\$ 0.3896 \$ 0.1900	\$ 116.8750 \$ 190.0000		\$6.23	24	\$ 0.1875	\$ 187.5000		\$10,90	12	\$ 0.4542 \$ 0.1342	\$ 136.2500 \$ 134.1667	BOX	\$9.95 \$2.47	12	\$ 0.4146 \$ 0.2058	\$ 205.8333		\$1.32		\$ 0.2700 \$ 0.1100	\$ 81.00 \$ 110.00
\$ 0.2367	\$ 236.6667		\$0.21	1	\$ 0.2100	\$ 210.0000		\$1.79	12	\$ 0.1492	\$ 149.1667	BOX	\$1.61	12	\$ 0.1342	\$ 134.1667		\$2.04		\$ 0.1700	\$ 170.00
\$ 0.1183	\$118.3333	BOX	\$1.33	12	\$ 0.1108	\$ 110.8333		\$1.39	12	\$ 0.1158	\$ 115.8333	BOX	\$1.20	12	\$ 0.1000	\$ 100.0000		\$1.08		\$ 0.0900	\$ 90.00
\$ 0.0732 \$ 0.5654	\$ 4,3920	PACK BOX	\$3.76	50	\$ 0.0752 \$ 0.2596	\$ 4.5120 \$ 64,8958	BOX	\$3.45	50	\$ 0.0690 \$ 0.4958	\$ 4.1400 \$ 123.9583	BOX	\$4.12	50 24	\$ 0.0824 \$ 0.5396	\$ 4,9440 \$ 134,8958		\$7.50 \$6.48	50 24	\$ 0.1500 \$ 0.2700	\$ 9.00 \$ 67.50
\$ 55,0000	\$ 141.3542 \$ 5.500.0000	EACH	\$0.86	24	\$ 0.8600	\$ 64.8956 \$ 86.0000	CASE	\$11.90	24 12	\$ 0.4958 \$ 1.0900	\$ 109.0000	EACH	\$12.95	1	\$ 0.5396 \$ 0.7900	\$ 79.000		\$4,44		\$ 0.2700 \$ 0.3700	\$ 37.00
#VALUE!	#VALUE!	EACH	\$26.50	1		\$ 1,325.0000	EACH	\$39.95	1	\$ 39.9500	\$ 1,997.5000	EACH	\$23.39	1	\$ 23.3900	\$ 1,169.5000		\$46.49	1	\$ 46.4900	\$ 2,324.50
\$ 0.7500	\$ 37.5000	EACH	\$0.91	1	\$ 0.9100	\$ 45.5000	CASE	\$36.19	50	\$ 0.7238	\$ 36.1900	EACH	\$1.08	1	\$ 1.0800	\$ 54.0000		\$0.86	1	\$ 0.8600	\$ 43.00
\$ 0.6176	\$ 61,7600	BOX	\$16.15	25	\$ 0.6460	\$ 64.6000	BOX	\$5.39	10	\$ 0.5390	\$ 53.9000	PACK	\$7.37	12	\$ 0.6142	\$ 61.416		\$0.59	1	\$ 0.5900	\$ 59.00
\$ 0.8408	\$ 840.8333 \$ 146.2500	BOX	\$12.87	12	\$ 1,0725 \$ 0,3042	\$ 1,072.5000 \$ 152.0833	BOX	\$9.48	12	\$ 0.7900 \$ 0.2583	\$ 790.0000 \$ 129.1667	BOX	\$9.82 \$3.22	12	\$ 0.8183 \$ 0.2683	\$ 818.333 \$ 134.166		\$11,04	12	\$ 0.9200 \$ 0.3600	\$ 920.00 \$ 180.00
\$ 0.2925	\$ 1.681.6667	BOX	\$12.87	6	the second se	\$ 2,145.0000	BOX	\$9.48	6	\$ 1.5800	\$ 1,580.0000	BOX	\$9.82	6	\$ 1.6367	\$ 1,636.6667		\$10.98	6	\$ 1.8300	\$ 1.830.00
\$ 0.5850	\$ 292.5000		\$3.42	6	\$ 0.5700	\$ 285.0000	BOX	\$3.10	6	\$ 0.5167	\$ 258.3333	BOX	\$3.71	6	\$ 0.6183	\$ 309.166		\$4.26	6	\$ 0.7100	\$ 355.00
\$ 0.2100	\$ 12.6000		\$0.20	1	\$ 0.2000	\$ 12.0000		\$3.12	12	\$ 0.2600	\$ 15.6000	PACK	\$2.69	12	\$ 0.2242		EACH	\$0.24	1	\$ 0.2400	\$ 14.40
	\$4. 2,437.96		and a property of	A Principal a		\$ 4 2,255.08	Bridger of St		KA SISIAA	会社の日本のようです。	\$100 942.00	A A A A A A A A A A A A A A A A A A A		·行动地:"第四	1011 #DIV/01386	\$ #092,620,3			<b>MERCENCE</b>	Contraction of the state of	\$ 2,396.06
\$ 1.3780 \$ 0.4140	\$ 1.3780 \$ 82.8000		\$1.70			\$ 404 186.0000	BOX	NO BID \$9.36	24	#VALUE! \$ 0.3900	#VALUE! \$ 78,0000	EACH	\$87.72 \$0.75	50	\$ 1.7544 \$ 0.7500	\$ 1.7544 \$ 150.0000		\$144.00 \$1,17	100	\$ 1.4400 \$ 1.1700	\$ 1.44 \$ 234.00
\$ 0.0970	\$ 194,0400		\$0.08	1		\$ 360 180.0000		\$16.90	200	\$ 0.0845	\$ 169.0000	CASE	\$82.13	500	\$ 0.1643	\$ 328,520		\$12.00	100	\$ 0.1200	\$ 240.00
\$ 0.2526	\$ 252.6400		\$45.00	250		S:0000.08		NO BID		#VALUEI	#VALUE!	CASE	\$80.84	250	\$ 0.3234	\$ 323.360		\$2.30	10	\$ 0.2300	\$ 230.00
\$ 1.6400	\$ 820.0000		\$1.55	1		\$ 775,0000	CASE	\$139.00	100	\$ 1.3900	\$ 695.0000	EACH	\$1.64	1	\$ 1.6400	\$ 820.0000		\$1.55	1	\$ 1.5500	\$ 775.00
\$ 1.6800 \$ 8.6300	\$ 100.8000 \$ 863.0000		\$79.89	10		\$10000 94:2000 \$1000798.9000		NO BID NO BID		#VALUEI #VALUEI	#VALUE! #VALUE!	EACH	\$1.46	<u> </u>	\$ 1.4600 \$ 8.4800	\$ 87.6000 \$ 848.0000		NO BID \$8.00		#VALUEI \$ 8.0000	#VALUE1 \$ 800.00
\$ 20.5500	\$ 123.3000		\$9.88	1 1		\$1++#(59;2800		NO BID		#VALUE!	#VALUE!	EACH	\$10.18		\$ 10,1800		CASE	\$96.35	5	\$ 19,2700	\$ 115.62
	\$ \$9,808:40			enter a service	COLUMN SHOWS	\$\$\$\$\$\$7,815:00	Segura 100	and the second se	here a bayle topp	SA MARKANS	\$****7,331:50	Winney counts	a monterio	Real And	COMPLEX MINT	\$ 9,591.5	and the second second	-	<b>BADANCE</b>	240 Baransen	\$12,230.50
\$ 6.6790	\$ 667.9000		\$45.25	10		\$452.5000		NO BID		#VALUE!	#VALUE!	EACH	\$5.49	1	\$ 5.4900		DEACH	\$4.73	1	\$ 4.7300	\$ 473.00
\$ 1.1500	\$ 2,300.0000		\$1.60	50		\$163,200.0000 \$5663.540.0000		\$38.16	24	\$ 1.5900 \$ 0.7458	\$ 3,180.0000 \$ 3,729.0000	EACH	\$1.68	50	\$ 1.6800 \$ 1.0260	\$ 3,360.000 \$ 5,130.000		\$3.70		\$ 3.7000 \$ 0.8200	\$ 7,400.00 \$ 4,100.00
\$ 1.2146 \$ 2.2700	\$ 6,073.0000 \$ 567.5000		\$35.40			5 Mill 522(5000		\$40.56	24		\$ 3,729.0000		\$2.21	1 1	\$ 2.2100		0 EACH	\$1.03	1	\$ 1.0300	\$ 4,100.00
	\$***3,227.10					1 Mar 2 795 40			*		****VALUEI		t die bietenie	itte Bow where		HIS FVALUE			<b>建学学学学</b>		\$**** 3,530.20
\$ 1.4000	\$ 112.0000		\$1.25	1	\$***1.2500	\$366,0000	{	NO BID		#VALUE!	#VALUE!	L	NO BID		#VALUEI	#VALUE!	EACH	\$1.24	1	\$ 1.2400	\$ 99.20
\$ 0.8800	\$ 70.4000	EACH	\$0.83	<u>                                     </u>		\$ 144 65:4000	<b> </b>	NO BID		#VALUE!	#VALUE!	ł	NO BID	<b> </b>	#VALUEI #VALUE!	#VALUEI	EACH	\$0.74	!	\$ 0.7400	\$ 59.20
\$ 1.1900 \$ 1.3300	\$ 1,785.0000 \$ 66.5000		\$0.92	<u>                                      </u>		*\$##1;380.0000 +\$\$### 65.0000	1	NO BID NO BID		#VALUE! #VALUE!	#VALUEI #VALUEI	<b> </b>	NO BID	l	#VALUE! #VALUE!	#VALUEI #VALUEI	BAG	\$1,38	1	\$ 1.3800 \$ 1,1800	\$ 2,070.00 \$ 59.00
\$ 0.3807	\$ 1,142,0000		\$11.40	30		SW41:140.0000	1	NO BID	*****	#VALUE!	#VALUE!	1	NO BID	t	#VALUE!	#VALUE!	BOX	\$40.00	100	\$ 0.4000	\$ 1,200.00
\$ 1.2800	\$ 51.2000	EACH	\$1.10	1	1:10007	(\$ MAN 44:0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$1.07	1	\$ 1.0700	\$ 42.80
	\$ 71,153.59					\$\$\$73,952.64	6 38 539		e of the man		7\$ Ma14 292 32			AN AN ANA ANA		\$96.52,310.3			Sain a hole		\$#111,539:17
#VALUEI	#VALUE!	EACH	\$17.52	1	\$ 17.5200			NO BID		#VALUE!	#VALUE!	EACH	\$17.95		12205-640	1919-10974500		\$15.72	,	\$ 15.7200	
\$ 7.4500 \$ 6.6200	\$ 44,700.0000 \$ 6,620.0000	EACH	\$8.64		\$ 8.6400 \$ 3.9000	\$ 51,840.0000 \$ 3,900.0000	CASE	\$75.24 NO BID	36	\$ 2.0900 #VALUE1	\$12,540.0000 #VALUEI	EACH	\$3.74	1-1-	\$279 37400	\$46,490.000		\$13.91	└ <u>──</u>	\$ 13.9100 \$ 7.0000	\$ 83,460.00 \$ 7,000.00
\$ 6.6200	\$ 3,972.0000		\$3.90		\$ 3.9000	\$ 2,340,0000	1	NO BID		#VALUEI	#VALUE!	EACH	\$6.49	1		\$\$3,894,000		\$10.00	<u>-</u>	\$ 10.0000	\$ 6,000.00
	\$ 4,340.0000		\$3.69		\$ 3.6900	\$ 3,690.0000		NO BID		#VALUEI	#VALUE!	EACH	\$4.76	1		1\$ 4760.000		\$3.70	1	\$3.7000	\$ 3,700.00
\$ 21.4200	\$ 8,568.0000	EACH	\$17.19		\$ 17,1900	\$ 6,876.0000		NO BID		#VALUE!	#VALUEI	EACH	\$23.68	1		1599;472.000		\$171.90	10	\$ 17.1900	\$ 6,876.00
	\$ 1,976.6400		\$159.25		\$ 159.2500	\$ 1,911.0000	EACH	\$99.00	1	\$ 99.0000	\$ 1,188.0000	EACH	\$138.75	<u>+-</u> !		\$31,665.000		\$127.89	<u>  1</u>	\$ 127.8900	\$ 1,534.68
\$ 21.5600	\$ 150.9200	PAIR	\$21.54	1 1	\$ 21.5400	\$ 150.7800	1	NO BID		#VALUE!	#VALUE!	PAIR	\$27.35	1	1:3:27.3500	1\$ 191,450	U IPAIN	\$19.26	L	\$ 19.2600	\$ 134.82

Contract Management Prepared by Dawn Krass

### Bid Tabulation (Revised November 20, 2013)

### Bids Opened 9/26/13

	SIGNUS LICEN	Latana)	CULTERO/	CUI IIIIII DD	Contifor Iom	Extended Bried partitinga	NULUU VILUU	Nonion Dengic					Unit Of A	Countility (ED)	1000 1000 1000	S GALLER GALLER		USBO7 UCD DIG			Extended v Frilensen
	an marile birthering	iliter Amilia	.CO.1	1.000		19.1( ************************************		COELE	Meesure			errol and	Colle	Measure	المشاد فالمعادية	< ULDA		्रत्वम् ।		na dure shad elever	
\$ 2.9800 \$ 21.3500	\$ 35.7600 \$ 149.4500		\$15.12		\$ 15.1200 \$ 21.2500	\$ 181.4400 \$ 148.7500		NO BID		#VALUEI #VALUEI	#VALUE! #VALUE!	PAIR	\$2.81			\$ 0001337200 \$ 000189,5500		\$2,65		\$ 2.6500 \$ 19.0900	\$ 31.80 \$ 133.63
\$ 2,9800	\$ 35,7600	EACH	\$6.48		\$ 6.4800	\$ 77,7600		NO BID		#VALUE!	#VALUE!	EACH	\$2.81			SWER33:7200		\$2.65	1	\$ 2.6500	\$ 31.80
\$ 2.3500			\$4.63	1	\$ 4.6300	\$ 277.8000	CASE	\$167.40	60	\$ 2.7900	\$ 167.4000	EACH	\$3.99	1	\$ 0000 5 000	\$48239,4000	EACH	\$4.80		\$ 4.8000	\$ 288.00
#VALUE!	#VALUE!	EACH EACH	\$55.20 \$55.20	1	\$ 55.2000	\$ 552.0000 \$ 552.0000		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$76.07			S 760,7000		\$55.15	1	\$ 55.1500 \$ 55.0900	\$ 551.50 \$ 550.90
#VALUE!	#VALUE!	EACH	\$00.20	1	\$ 55.2000	\$ 552.0000		NU BIU		#VALUE!	#VALUE1	EAUN	\$70.07	<u> ' </u>		n actauns	CAUN	\$55.09		\$ 55.0900	a <u>550.80</u>
\$ 6.5900	\$ 184.5200	EACH	\$8.25		\$ B.2500	\$ 231,0000	EACH	\$6.39	1	\$ 6.3900	\$ 178.9200	EACH	\$7.24	1	11 02000		EACH	\$6,74	1	\$ 6.7400	\$ 188.72
\$ 139.7700	\$ 139.7700		\$199.47	1	\$ 199.4700	\$ 199.4700	EACH	\$109.00		\$ 109.0000	\$ 109.0000		\$139.95			\$996139.9500		\$135.66		\$ 135.6600	\$ 135.66
\$ 139.7700	\$ 139.7700 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$		\$148.64	CINAL CARGE	\$ 148.6400	\$ 148.6400 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	EACH	\$109.00			\$ 109.0000		\$139.95			1318-1139.9500 1518-1487/67/		\$135.66		\$ 135.6600	\$ 135.66 \$ 1322.03
\$ 5.1100	\$ 127.7500		\$4.10	1	\$ 4.1000	\$ 102.5000	BOX	\$24.90				EACH	\$3.94	1	\$ 3.9400			\$3.26	1	\$ 3.2600	\$ 81.50
\$ 3,7700	\$ 94.2500		\$2,80	1	\$ 2.8000	\$ 70.0000	BOX	\$25.90	10		S 47500	EACH	\$3.39	1	\$ 3.3900	\$ 84.7500		\$3,37	1	\$ 3.3700	\$ 84,25
\$ 4.1200	\$ 103.0000 \$ 45.0000		\$3.35	1	\$ 3.3500 \$ 0.8000	\$ 83.7500 \$ 20.0000	BOX	\$28.30	10 10			EACH	\$3.39		\$ 3.3900 \$ 0.9900	\$ 84,7500 \$ 24,7500		\$3.36		\$ 3.3600 \$ 0.7800	\$ 84.00 \$ 19.50
\$ 1.8000 \$ 1.8000	\$ 45.0000	EACH	\$0.80	1 1	\$ 0.8000	\$ 20.0000	BOX	\$8.50	10		\$ 212500	EACH	\$0.99			\$ 24.7500		\$1.05		\$ 1.0500	\$ 26.25
\$ 11.5500	\$ 138.6000	EACH	\$5.10	1	\$ 5.1000	\$ 61.2000	BOX	\$33.45	10	S. 884501	S19974071400	EACH	\$3.99	1	\$ 3.9900	\$ 47.8800		\$6.34	1	\$ 6.3400	\$ 76.08
\$ 4.4600	\$ 111.5000	EACH	\$1.20	1	\$ 1.2000	\$ 30.0000	BOX	\$8.90	10		22:2500		\$1.99	1	\$ 1.9900	\$ 49.7500		\$2.03	1	\$ 2.0300	
\$ 0.3860 \$ 0.7000	\$ 23.1600 \$ 42.0000	PAIR	\$0.39		\$ 0.3900 \$ 0.7000	\$ 23.4000 \$ 42.0000	BOX	\$4.90 \$16.56	10		\$ 29:4000 \$ 29:4000	EACH	\$4,19		\$ 0.4190 \$ 0.7900	\$ 25,1400 \$ 47,4000		\$3.60 \$0.84	10	\$ 0.3600 \$ 0.8400	\$ 21.60 \$ 50.40
\$ 104,3000	\$ 1.251.6000	EACH	\$16.45		\$ 16.4500	\$ 197,4000	EACH	\$12.99	1	1310012.99001		GROIT	NO BID	<u>+</u>	#VALUE!	#VALUEI	EACH	\$69.05		\$ 69.0500	\$ 828.60
		Mar Press A		A Provide A Providence		\$ 20.11:775.24	ANT WHERE		彩的设施器		Steph 658 70			警察系 弘	ter Bellevin Martine	\$4512,127,96	aparen at			to the applications	
\$ 1.2700	\$ 1,270.0000	EACH	\$1.70	1		(\$@\$1;700.0000	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$2.39	1 1	\$ 2.3900	\$ 2,390.0000		\$97.44	48	\$ 2.0300	\$ 2,030.00
\$ 1.2700 #VALUEI	\$ 127.0000 #VALUE!	EACH	\$1.80 NO BID	<u> '</u>		1\$###180.0000 ####VALUE!?##		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$2.49 NO BID	1	\$ 2.4900 #VALUEI	\$ 249.0000 #VALUE!	CASE	\$1.46	25	\$ 1.4600 \$ 1.6900	\$ 146.00 \$ 507.00
\$ 0.0064	\$ 12,7000	BOX	\$1.40	100		1\$10000		NO BID		#VALUE!	#VALUE!	BOX	\$1.40	100	\$ 0.0140	\$ 28,0000		\$2.00	200	\$ 0.0100	\$ 20.00
#VALUE!	#VALUEI	EACH	\$6.44			\$ 322,0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUEI	CASE	\$216.00	20	\$ 10.8000	\$ 540.00
\$ 1.3300	\$ 6,650.0000	A	\$1.29			\$\$6,450.0000		NO BID		#VALUEI #VALUEI	#VALUE!	EACH	\$1.33			\$ 6,650.0000		\$666.00	200	\$ 3.3300	\$ 16,650.00
\$ 3.5822 \$ 0.3707	\$ 1,791.1000 \$ 370.7000	BOX	\$34.50			\$ ************************************	BOX	\$39.00	100	\$ 0,3900	\$ 390.0000	BOX	\$32.95	100	\$ 0.3295 \$ 0.3295	\$ 164.7500 \$ 329.5000		\$45.00 \$45.00	100	\$ 0.4500 \$ 0.4500	\$ 225.00 \$ 450.00
\$ 0.2773	\$ 83.1750	EACH	\$0.45	1		\$1001135.0000		NO BID		#VALUEI	#VALUE!	BOX	\$159.74		\$ 0.7987	\$ 239.6100	EACH	\$0.31	1	\$ 0.3100	\$ 93.00
\$ 1.3902	\$ 347.5500	CASE	\$142.28			\$1994711:4000		NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUEI	CASE	\$134.00	50	\$ 2.6800	\$ 670.00
\$ 22.3300	\$ 558.2500 \$ 162.0000	EACH	\$22.50			1\$ 444562,5000 1\$ 1648113,3375		\$286.80	12	\$ 23.9000 \$ 7.9900	\$ 597.5000 \$ 159.8000	EACH	\$23.60		\$ 23.6000 \$ 8.8500	\$ 590.0000 \$ 177.0000		\$19.91	1	\$ 19.9100 \$ 10.8100	\$ 497.75
\$ 0.0660	\$ 396.0000	EACH	\$0.09			\$ 540.0000		\$8.49	100	\$ 0.0849	\$ 509,4000	PACK	\$9.95		\$ 0.0995	\$ 597.0000		\$8.00	100	\$ 0.0800	\$ 216.20 \$ 480.00
\$ 1.5301	\$ 459.0250	EACH	\$1.72	1	+\$\$\$\$1:7200-	\$ \$\$516.0000				#DIV/01	#DIV/01	BOX	\$475.00	200	• LI0/00	\$ 712.5000	EACH	\$2.16	1	\$ 2.1600	\$ 648.00
	\$ 47,069.76		. Non-States	Marcha		\$ 39,178.83			Alarman in the second second	statistics in	\$#12,257,10	bi contrario	1.2.10							artic grade three	
\$ 2.4890 \$ 3.5240	\$ 248.9000 \$ 352.4000	EACH	\$6.18		\$ 6.1800 \$ 7.0400	\$ 618.0000 \$ 704.0000		\$29.50	10	\$ 2.9500 \$ 2.9500	\$ 295.0000 \$ 295.0000	EACH	\$2.42		\$ 2.4200 \$ 2.7300	\$ 242,0000 \$ 273,0000		\$35.05	5	\$2497.0100	
\$ 3,2070	\$ 320,7000	EACH	\$8.50		\$ 8.5000	\$ 850.0000		\$31.00	10	\$ 3.1000	\$ 310.0000	EACH	\$2.98		\$ 2.9800	\$ 298.0000		\$47.20	5	\$4,29,4400	
\$ 3.8100	\$ 762.0000	EACH	\$9.70		\$ 9.7000	\$ 1,940.0000		\$35.00	10	\$ 3,5000	\$ 700.0000	EACH	\$3.88		\$ 3.8800	\$ 776.0000		\$54.10	5	\$2#10.8200	
\$ 4.4050 \$ 5.7900	\$ 881.0000 \$ 69.4800		\$10.90		\$ 10.9000 \$ 4.8800	\$ 2,180.0000 \$ 58.5600	BOX	\$42.00	10	\$ 4.2000 \$ 5.6500	\$ 840.0000 \$ 67.8000	EACH	\$4.30		\$ 4.3000 \$ 6.9900	\$ 860.0000 \$ 83.8800		\$60.90	5	\$***12:1800	
\$ 5.7900	\$ 115.8000	EACH	\$4.88		\$ 4.8800	\$ 97.6000		\$5.65	1	\$ 5.6500	\$ 113.0000	EACH	\$6.99		\$ 6.9900			\$5.99		\$ #\$#5,9900	
\$ 5.7900	\$ 173.7000	EACH	\$5.69	) 1	\$ 5.6900	\$ 170.7000	BOX	\$5.65	1	\$ 5.6500	\$ 169,5000	EACH	\$5.85	5 1	\$ 5.8500	\$ 175.5000	EACH	\$6.02	1	\$ 6.0200	1\$1948180.60
\$ 5.7900	\$ 173,7000		\$6,15		\$ 6,1500	\$ 184.5000	BOX	\$5.65	1	\$ 5.6500	\$ 169.5000	EACH	\$6.99		\$ 6,9900			\$6.76	1	\$ ## 6:76002	
\$ 9.2400 \$ 9.2400	\$ 5,544.0000 \$ 7,392.0000	EACH	\$8.94		\$ 8.9400 \$ 8.9400	\$ 5,364.0000 \$ 7,152.0000		NO BID		#VALUEI #VALUEI	#VALUE! #VALUE!	EACH	\$9.09		\$ 9.0900 \$ 9.0900	\$ 5,454.0000 \$ 7,272.0000		\$210.96	24	\$4488.7800	
#VALUEI	#VALUEI	PACK	\$15.40	autor income	\$ 15.4000	\$ 369.6000	+	NO BID		#VALUE!	#VALUE!	1011	NO BID	<u>' '</u>	#VALUE!	#VALUE!	CASE	\$105.90	5	\$9821118001	
\$ 31.8800	\$ 765.1200		\$15.40		\$ 15.4000	\$ 369.6000		NO BID		#VALUEI	#VALUE!		NO BID		#VALUE!	#VALUE!	CASE	\$200.40	10	\$\$\$20,0400	
\$_0.1567	\$ 156.6667	PACK	\$0.42	2 3	\$ 0,1400	\$ 140.0000	<b> </b>	NO BID		#VALUE!	#VALUE!	BOX	\$4.70	30	\$ 0.1567	\$ 156.6667	BOX	\$9.30	30	\$440,3100	And the second se
\$ 0,1493	\$ 1,194,6667	PACK	\$4.30	30	\$ 0.1433	\$ 1,146,6667	1	NO BID		#VALUE!	#VALUEI	POUCH	\$4.30	40	\$ 0.1075	\$ 860.0000	PACK	\$3.00	30	0.000	SIG M 800.00
	\$ 1,765.0000		\$21.88			\$ 2,188.0000	1	\$199.00	20	\$ 9.9500	\$ 995.0000	EACH	\$19.24			\$ 1,924.0000	EACH	\$16.74	1	Ster167400	
\$ 13.5729		EACH	\$16.2		\$ 16.2500			\$199.00	20		\$ 2,487.5000		\$15.43		\$ 15.4300	\$ 3,857.5000		\$12.88	1	\$#\$12.8800	
\$ 120.9600 \$ 41.1200	\$ 9,072.0000 \$ 822,4000	EACH	\$130.38		\$ 130.3800	\$ 9,778.5000 \$ 1.240.6000	ł	\$69.00		\$ 69.0000 \$ 31,9900	\$ 5,175.0000 \$ 639.8000	EACH	\$64.3		\$ 64.3300 \$ 41.3700	\$ 4,824.7500 \$ 827.4000		\$114.74	1	\$ \$839.0400	
	\$ 13.867.0000		\$5.64		\$ 5.6400	\$ 1,240.5000		NO BID		#VALUEI	#VALUEI	EACH	\$121.9		\$ 121.9300			\$39.04	1	\$98922100	
	\$ 10 1398.24					*\$ *****1,304.40			ARTICAL		\$ ***** 867.91					15-0-1:386.92		·	KIT-SOUTH		\$4.2,080:58
\$ 0.0383	\$ 38.3000		\$3.64			\$ 36.4000		NO BID		#VALUE	#VALUE!	BOX	\$3.64		\$ 0.0364	\$ 36.4000		\$4.00	100	\$ 0.0400	\$ 40.00
\$ 0.3400	\$ 17.0000	EACH	\$0.3	3 1	52000.3300	\$ \$ 16:5000	ROX	\$15.69	100	\$ 0.1569	\$ 7.8450	EACH	\$0.0	7 1	\$ 0.0700	\$ 3.5000	IBAG	\$1.20	10	\$ 0.1200	\$ 6.00

Contract Management Prepared by Dawn Krass

### Bid Tabulation (Revised November 20, 2013)

ContPC7 Jibno	Extended(Price polyUng)	Unition 1251 (000) (00005)	UNIOF UCTUR COL			Extended®dice gruiungo						UNIO/ Unturo Unicon	Unition Unitedity CODI	Quantity Dente Measure	Canapar	Extended Price/Self USCOD	UTHOI LOLDHA (DEDA	UNROF IN TURN ESTI	-00061169 15:25 12:251(12)		Extended > Prico perc Utage S
\$ 4,9800	\$ 99.6000	EACH	\$5.07	1	21 - Con7co	ല സംത്ത	BOX	\$2.79	1	\$ 2,7900	\$ 55,8000	EACH	\$6.27	1	\$ 6.2700	\$ 125,4000	EACH	\$4,72	1	\$ 4.7200	\$ 94.40
\$ 7,5800	· · · · · · · · · · · · · · · · · · ·	EACH	\$5.07	·'	6 50700		BOX	\$4.59		\$ 4,5900	\$ 137.7000	EACH	\$5.72		\$ 5,7200	\$ 171.6000	EACH	\$29.31		\$ 29.3100	
\$ 172.6100	\$ 690.4400		\$169.50	1	\$\$169,5000	\$368678.0000	BOX	\$89.00	1		\$ 356.0000		\$197.88	1		\$ 791.5200		\$165.22	1	\$ 165.2200	\$ 879.30 \$ 660.88
\$ 0.0651		BOX	\$12.80			\$ 000001 \$ 000001 \$ 000001 \$ 225.52		\$49.69	800	\$ 0.0621	\$ 310.5625		\$10.34			\$ 258.5000		\$16.00		\$ 0.0800	\$ 400.00
\$ 29,4125	\$ 352,9500	EACH	\$0.00		\$ -	\$	San	NO BID	ALCO CONSIGNATION OF THE OWNER OF	#VALUE!	#VALUEI	EACH	\$18.70	1 1	the state of the s	\$#243,809:35) \$ 224,4000	EA	\$0.02	1		
\$ 1.3880	\$ 11,104.0000	BOX	\$19.48	50	\$ 0.3896	\$ 3,116.8000		NO BID		#VALUE!	#VALUEI	BOX	\$21.64	50		\$ 3,462.4000	BOX	\$20.00	50	\$ 0.4000	
\$ 8.5283	\$ 119.3967	BOX	\$7.47		\$ 7.4700	\$ 104.5800		NO BID		#VALUE!	#VALUEI	BOX	\$8.46		\$ 8.4600	\$ 118,4400	EA	\$7.99	1	\$ 7.9900	\$ 111.86
\$ 0.1682	\$ 4.0368	BOX	\$17.25		\$ 0.1725	\$ 4,1400 \$ 24,405,16	CARDON NOA	NO BID	6	#VALUEI	#VALUE!	BOX	\$17.13		\$ 0.1713	\$ 4.1112 \$7#23;431:03		\$21.00	150	\$ 0.1400	\$ 3.36
	\$ 8,874.0000		\$27.45	1		\$ 5,490.0000		NO BID		#VALUE!	#VALUE!	вох	\$144.74	5		\$ 5,789.6000		\$24.82	1		\$ 4,964.00
\$ 36.9100	\$ 14,764.0000	PAIR	\$21.32	1	\$ 21.3200	\$ 8,528.0000		NO BID		#VALUEI	#VALUE!	вох	\$218.80	10	\$ 21.8800	\$ 8,752.0000	PAIR	\$11.59	1	ก กระก	15 644 636.00
	\$ 2,792.0000		\$9.68			\$ 1,936.0000		NO BID		#VALUE!	#VALUE!	BOX	\$252.78		\$ 10.1112	\$ 2,022.2400	EACH	\$10.81	1	S \$10.81001	\$3082,162.00
\$ 11.1700 \$ 127.6900	\$ 2,234,0000 \$ 1,532,2800	EACH EACH	\$8.15			\$ 1,630.0000 \$ 3,264.0000		NO BID NO BID		#VALUE! #VALUE!	#VALUE!	BOX EACH	\$245.61 \$119.77	25		\$ 1,964.8800 \$ 1,437,2400		\$8.65 \$105.88			\$3\$1,730.00
	\$ 1,915,4400	LAUN	NO BID	<u> ' </u>	\$ 272.0000 #VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$277.42		\$ 277,4200	\$ 1,664.5200	EACH	\$264.70	1		\$#\$#1,270.56 \$###1,588.20
	\$ 363.0900	EACH	\$43.88	1	\$ 43.8800	\$ 307.1600		NO BID		#VALUE!	#VALUE!	EACH	\$48.65	1		\$ 340.5500	EACH	\$43,23	1		\$ 4 302.61
	\$ 1,820.0000	BOX	\$3.25			\$ 3,250.0000	CASE	\$169.00	100	\$ 1.6900	\$ 1,690.0000	EACH	\$1.46	1		\$ 1,460.0000	BOX	\$14.70	10		\$341,470.00
\$ 15.8100	\$ 395,2500	EACH	\$15.45	1 1000	\$ 15.4500	\$ 386.2500	the second	NO BID	an init has a	#VALUE!	\$ ##8,925.16 #VALUE!	BOX	\$68.50	₹≫ <u>50</u>	\$ 1,3700	\$ 34,2500	HOU AN	\$15.00	171111		\$10 9,060.75 \$1007375.00
\$ 19,5900	\$ 156.7200		\$8.58		\$ 8.5800	\$ 58.6400		NO BID		#VALUE!	#VALUE!	BOX	\$90.64		\$ 9,0640	\$ 72,5120		\$8.61	1		\$ \$ 69.88
\$ 19.5900	\$ 156.7200	EACH	\$8.58	1	\$ 8.5800	\$ 68,6400		NO BID		#VALUE!	#VALUE!	BOX	\$90.64	10	\$ 9.0640	\$ 72.5120	EACH	\$8.61	1		\$100 68.88
\$ 1.6500	\$ 660.0000	EACH	\$1.65		\$ 1.6500	\$ 660.0000	BOX	\$82.40	50	\$ 1,6480	\$ 659.2000	BOX	\$80.45		\$ 1.6090	\$ 643.6000	BOX	\$79.00	50		16年間時間632.00
\$ 1.6500 \$ 1.6500	\$ 990.0000 \$ 2.475.0000	EACH	\$1.65		\$ 1.6500 \$ 1.6500	\$ 990.0000 \$ 2,475.0000	BOX	\$82.40 \$82.40	50 50	\$ 1.6480 \$ 1.6480	\$ 968.8000 \$ 2.472.0000	BOX BOX	\$80.45 \$80.45		\$ 1.6090 \$ 1.6090	\$ 965.4000 \$ 2.413.5000		\$79.00	50 50		\$\$2:2:370.00
\$ 1.6500	\$ 2,475,0000	EACH	\$1.65	1 1	\$ 1.6500	\$ 2,475.0000	BOX	\$82.40	50	\$ 1.6480	\$ 2,472,0000	BOX	\$80.45		\$ 1,6090	\$ 2,413.5000	BOX	\$79.00	50		3862:370.00
\$ 1.6500	\$ 1,320.0000	EACH	\$1.65	1	\$ 1.6500	\$ 1,320.0000	BOX	\$82.40	50	\$ 1.6480	\$ 1,318.4000	BOX	\$80.45		\$ 1.6090	\$ 1,287.2000	EACH	\$1.58	1	\$ Ment 15800	(\$#ck1 264.00
\$ 1.6500	\$ 990.0000	EACH	\$1.65		\$ 1.6500	\$ 990.0000	BOX	\$82.40	50	\$ 1.6480	\$ 988.8000	BOX	\$80.45		\$ 1.6090	\$ 965.4000	BOX	\$79.00	50		\$998948.00
\$ 0.0243	\$ 9.7200 \$%0~3,718.52	BOX	\$2.54		\$ 0.0254	\$ 10.1600 \$ 10.1600	BOX	\$6.49	100	\$ 0.0649	\$ 25.9600 \$##2,315/13	BOX	\$4.33		\$ 0.0433	\$ 17.3200 \$***8,561.31	BOX	\$4.00	100		\$##3,849.90
#VALUE!	#VALUE!	EACH	\$0.67	1		\$ 10000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI	#VALUEI	EACH	\$0.97	1	\$ 0.9700	\$ 97.00
\$ 0.4500	\$ 45.0000	EACH	\$0.81			45 48 8110000		\$23.19	50	\$ 0.4638	\$ 46.3800	EACH	\$0.78	1	\$ 0,7800	\$ 78.0000	EACH	\$0.78	1	\$ 0.7800	
\$ 0.3600 \$ 14.3500	\$ 72.0000 \$ 172.2000	EACH	\$0.81	<u>  1</u>		\$ 10101 0400	CASE	\$21.09 NO BID	50	\$ 0.4218 #VALUE!	\$ 84.3600 #VALUE!	EACH EACH	\$0.78		\$ 0.7800 \$ 16.6100	\$ 156.0000 \$ 199.3200		\$53.50	50	\$ 1.0700 \$ 11.6000	\$ 214.00 \$ 139,20
\$ 14.3500	\$ 172.2000		\$9.75			117.0000		NO BID	<u> </u>	#VALUE!	#VALUE!	EACH	\$16,36		\$ 16.3600	\$ 196.3200		\$11,60	1	\$ 11.6000	\$ 139.20
\$ 11.4300	\$ 960.1200	EACH	\$7.95	1	(\$ 807.9500)	15 657,8000		NO BID		#VALUE1	#VALUE!	EACH	\$10.88	1	\$ 10.8800	\$ 913.9200		\$8,75	1	\$ 8.7500	\$ 735.00
#VALUE!	#VALUE!	EACH	\$45.64			\$ 3,423.0000		NO BID		#VALUE! #VALUE!	#VALUEI	EACH	\$58.95	<u> </u>		\$ 4,421.2500	ļ	NO BID		#VALUE!	#VALUEI
#VALUE! #VALUE!	#VALUE!	EACH	\$18.97			13 241 422 7500		NO BID		#VALUE!	#VALUE!		NO BID		#VALUEI #VALUEI	#VALUE!		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!
#VALUE!	#VALUE!	EACH	\$2.05		STAR 2.09001	15 158,7500		NO BID		#VALUE	#VALUE!		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!
\$ 0.7600	\$ 76,0000	EACH	\$0.46			131000 48,0000		\$31.69	50	\$ 0.6338	\$ 63.3800		\$0.70		\$ 0.7000	\$ 70.0000		\$2.06	1	\$ 2.0600	\$ 206.00
\$ 0,3700 \$ 0,2500	\$ 55,5000 \$ 1,250,0000		\$0.24			\$\$\$\$\$36,0000 \$\$\$10(1)200.0000		\$14.29 \$12.39	50 50	\$ 0.2858 \$ 0.2478	\$ 42.8700 \$ 1.239.0000	EACH EACH	\$0.34 \$0.29		\$ 0.3400 \$ 0.2900	\$ 51.0000 \$ 1.450.0000		\$9.50	50 50	\$ 0.1900 \$ 0.1900	\$ 28.50
\$ 0.2500	\$ 69.0000		\$0.24			15 0700 63 0000		\$12.39	50	\$ 0.6478	\$ 64,7800	EACH	\$0.29	<u> </u> ;	\$ 0.2900	\$ 78.0000	EACH	\$9.50		\$ 0.1900 \$ 0.7100	\$ 950.00 \$ 71.00
\$ 0.9400	\$ 47.0000	EACH	\$3.52	2 1	S 33.5200	1\$ 414176.0000	CASE	\$33.39	50	\$ 0.6678	\$ 33.3900	EACH	\$1.63		\$ 1.6300	\$ 81.5000	EACH	\$4.40	i i	\$ 4.4000	\$ 220.00
\$ 0.7300	\$ 109.5000	EACH	\$0.99			\$ 200148.5000		\$32.39	50	\$ 0.6478	\$ 97.1700	EACH	\$0.84		\$ 0.8400	\$ 126.0000		\$1.08	1	\$ 1.0800	\$ 162.00
\$ 0.6900	\$ 690.0000 \$****518.84		\$0.72			2\$ 37720.0000 \$ 378411376.70		\$32,19		\$ 0.6438			\$0.74	nisiani directoria	\$ 0.7400	\$ 740.0000		\$0.81	1	\$ 0.8100	\$ 810.00 \$*941(596.90 >
\$ 0.3700	\$ 7.4000	EACH	\$0.30		\$ 0.3000	\$ 6.0000		\$0.33	the second s		15.000 5:5000		\$0.58		\$ 0.5800	\$ 11.6000		\$0.35	1	\$ 0.3500	\$ 7.00
\$ 0.7400	\$ 8.8800	EACH	\$0.37	1 1	\$ 0.3700	\$ 4,4400	EACH	\$0.59	1	15 10 0.59003	SERVER 0800	EACH	\$0.99		\$ 0.9900	\$ 11.8800	ÉACH	\$3.02	1	\$ 3.0200	\$ 36.24
\$ 12.7200	\$ 76.3200	EACH	\$15.15		\$ 15.1500	\$ 90.9000		\$11.29			67/7400		\$11.70	1	\$ 11.7000	\$ 70.2000		\$11.36	1	\$ 11.3600	\$ 68.16
#VALUE1 \$ 21,1800	#VALUE! \$ 254,1600	EACH	\$35,46		\$ 35.4600 \$ 21,8800	\$ 212.7600 \$ 262.5600		\$22,99 \$15,99			15 137.9400 15 10118800		\$26.42		\$ 26.4200 \$ 19.4700	\$ 158.5200 \$ 233.6400		\$13.43	1	\$ 13.4300 \$ 18.9200	\$ 80.58 \$ 227.04
#VALUE!	#VALUE!	EACH	\$29.8		\$ 29.8800	\$ 298.8000		\$39.95	1		1938 399.5000		\$33.81	L i	\$ 33.8100	\$ 338,1000		\$76.79	1	\$ 76.7900	\$ 767.90
\$ 28.6800	\$ 172,0800		\$83.54		\$ 83.5400	\$ 501.2400		\$32.95	1		15 46197/7000		\$39.18		\$ 39.1800	\$ 235.0800		\$68.33	1	\$ 68.3300	\$ 409.98
#VALUEI	#WALUE!	EACH				\$ 324.0000	19700-704°A	NO BID	ALANA	#VALUE!	#VALUE	ANT OF BEAM	NO BID	85-1-17-50R	#VALUE!	\$%%*1;255.08 #VALUE!	State State State State State				\$* 25,802.13
#VALUE!	I WVALUE!	CAUR	\$4.0	<u> </u>	\$ 4.0500	[ ≠ J£4.0000	I	טום טוין	ł	T #MULUE!	I #VALUEI	J	INO BID	J	WALUE!	#YALUE!	BOX	\$44.20	10		\$\$\$\$353.60

Contract Management Prepared by Dawn Krass

	CONTRO CONTRO CONTRO	U500/ 100000 (00000	UNDO/ ULTRIO CEGI	CHANNY (191) (2011)110	Constitutor Licitat	Extended Brice		CC DATA	ett tillin Elli Direance		ESIGNECSI POLESIES/ ULUEO		Unitor Nation Conf		2001/P.17 1000	STREET STREET STREET STREET STREET			armını Mari	CONPUT LUTA	Extended Prior Office VALUE
Second Second Second		PITTLAN				All and a second			Mircine) States		فأساد تبدعه وعرارهما فأس	T These	Monaha Rata State			ran timber with or my	TTTL	in the main in the	and and	ant de la marter sal	and a set of set of a set of set of set
#VALUE!		BOX	\$3.80	25	\$ 0.1520	\$ 3.0400		NO BID		#VALUE! #VALUE!	#VALUE!		NO BID		#VALUE! #VALUE!	#VALUE!	CR BOX	\$8.40		SW801400	\$ 1000042.60
#VALUE! #VALUE!		EACH	\$38.64		\$ 38.6400 \$ 2.1300	\$ 1,545.6000 \$ 170.4000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE:	#VALUE!	BOX	\$18.30		\$1400118300	
#VALUE!		EACH	\$10.58	1	\$ 10.5800			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$108.20		\$ 10.8200	
#VALUE!	#VALUE!	BOX	\$1.90	10	\$ 0.1900	\$ 15.2000		NO BID		#VALUE!	#VALUE!	BOX	\$1.96	10	\$ 0,1960	\$ 15.6800	BOX	\$1.60	10	\$90年0:16001	
#VALUE!		BOTTLE	\$0.70	1	\$ 0,7000	\$ 70.0000		NO BID		#VALUE!	#VALUE!	BOTTLE	\$0.88		\$ 0.8800	\$ 88.0000	BOTTLE	\$1.08		\$ 100 0.0300: \$ 100 0.8200	
#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$10.58	·	\$ 10.5800 \$ 9.3400	\$ 1,587.0000 \$ 186.8000		NO BID		#VALUE! #VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE! #VALUE!	BOX	\$108.20	10	\$ \$65:2000	
#VALUE!	#VALUE!	EACH	\$25.64	'	\$ 25.6400			NO BID		#VALUE!	#VALUE!	TUBE	\$5.61	1	\$ 5.6100	\$ 112.2000	EACH	\$20.87	1	\$9820.8700	
#VALUE!	#VALUE!	EACH	\$814.25	1	\$ 814.2500			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	EACH	\$828.28	1	\$\$828:2800	
#VALUE!	#VALUE!	EACH	\$10.70	1	\$ 10.7000			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	PACK	\$118.80		1\$108800!	
#VALUE!	#VALUE!	EACH	\$1.68	1	\$ 1.6800	\$ 504.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX EACH	\$18.00	10	\$ 1001.8000	
#VALUEI #VALUEI	#VALUE! #VALUE!	EACH	\$10.49	<u>      </u>	\$ 10,4900 \$ 2,8800	\$ 293.7200 \$ 864.0000		NO BID		#VALUE! #VALUE!	#VALUE!		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	BOX	\$10.14		15 2 5700	
#VALUEI	#VALUE!	EACH	\$6.12		\$ 6.1200	\$ 2,448.0000		NO BID		#VALUEI	#VALUE!		NO BID		#VALUEI	#VALUEI	BOX	\$54.50	10	\$## 5.4500	
#VALUE!	#VALUE!	EACH	\$1.98	1	\$ 1.9800	\$ 396.0000		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	BOX	\$33.00	25	\$###1:3200	\$16th 264.00
#VALUEI	#VALUE!	EACH	\$151.98	1	\$ 151.9800	\$ 3,799.5000		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	EACH	\$121.32	1	\$\$121:3200	
#VALUE!	#VALUE!	PACK	\$3.85	3	\$ 1.2833	\$ 102.6667		NO BID		#VALUE!	#VALUE!	PACK	\$12.99	1	\$ 12.9900	\$ 1,039.2000	CR	\$4.65	3	\$10012001	
#VALUEI #VALUEI	#VALUEI #VALUEI	BOX FACH	\$5.11	30	\$ 0.1703 \$ 1.9300	\$ 3.4067 \$ 77.2000		NO BID		#VALUE! #VALUE!	#VALUE!		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$3.00	25		\$ 66.40
#VALUEI	#VALUEI	EACH	\$3.88	<del>  ;</del>	\$ 3.8800	\$ 232.8000		NO BID		#VALUE!	#VALUEI		NO BID		#VALUEI	#VALUEI	BOX	\$32.10	10	\$1003,21001	
#VALUEI	#VALUE!	EACH	\$1.25	1	\$ 1.2500	\$ 93.7500		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	BOX	\$32.00	25	\$ 31.2800	\$4.48.# 96.00
#VALUE!	#VALUE!	EACH	\$1.30	1	\$ 1.3000			NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	BOX	\$26.30		\$#\$2.5300?	
#VALUE!	#VALUE)	EACH	\$14.88	ļ!	\$ 14.8800	\$ 1,190.4000		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	CASE TUBE	\$151.80	10	\$9215.1800/	
#VALUEI #VALUEI	#VALUE! #VALUE!	BOTTLE	\$29,64	$\frac{1}{1}$	\$ 29.6400	\$ 296.4000 \$ 851.2000		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	PACK	\$19.34	100	\$19.3400	\$ \$ \$ \$ \$ \$ 16.80
#VALUEI	#VALUE!	EACH	\$1.58		\$ 1.5800			NO BID		#VALUE!	#VALUEI	<b> </b>	NO BID		#VALUEI	#VALUE!	BOX	\$12.70	10	\$ 31:2700	
#VALUE!	#VALUE!	EACH	\$8.88	1	\$ 8.8800	\$ 177.6000		NO BID		#VALUE!	#VALUEI		NO BID		#VALUEI	#VALUE!	PACK	\$314.60	20		\$76:00314:60
#VALUE!	#VALUE!	EACH	\$9.12	1	\$ 9.1200	\$ 684.0000		NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$132.00	25	\$ \$\$\$ 5:2800	
#VALUE!	#VALUE!	EACH	\$10.64	1	\$ 10.6400	\$ 532.0000		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	PACK	\$77.30	10	\$2497,7300	
#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$6.40 \$5.80		\$ 6.4000 \$ 5.8000	\$ 640.0000 \$ 435.0000		NO BID		#VALUE!	#VALUEI #VALUEI		NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	10X10ML PACK	\$138.20 \$134.25	10 25	\$ \$13.8200	\$ 540 402.75
#VALUE!	#VALUE	EACH	\$5.12	1	\$ 5,1200			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$14.00	10		\$ 03×112.00
es construction and a super-	\$ ************************************			Martin 2 .	· ALCONOLISISSI AND	\$ \$ 8654.25	<b>SPECIAL SURFE</b>	W. WW. COL	Section Sector		\$ HA \$ 98173	The search and the	478546H.5R3	********		\$vorte278.82				NY MERSON PAR	
\$ 0.0345	\$ 0.8280		\$5.70	1	\$ 5.7000		CASE	\$82.19	1920	\$ 0.0428	\$ 1.0274	TUB	\$5.45	160	\$ \$ 6.0341	15 - 0.8175	PACK	\$8.00	160	\$ 0.0500	\$ 1.20
	\$ 8.1840		\$10.50		\$ 0.1050		ļ	NO BID		#VALUE!	#VALUE!	CASE	\$95.74			5 7.6592		\$14.00	200	\$ 0.0700 \$ 0.0070	
\$ 0.1023 \$ 0.1023	\$ 20.4600 \$ 51.1500		\$10,50		\$ 0.1050		<u> </u>	NO BID		#VALUE! #VALUE!	#VALUE!	CASE	\$95.74 \$95.74	1000		\$10001971480 \$100847/8700		\$14.00	2000	\$ 0.0070	
\$ 0,1023			\$10.50		\$ 0.1050			NO BID		#VALUE!	#VALUE!	CASE	\$95.74	1000		15 00 38 2960		\$11.20	140	\$ 0.0800	\$ 32.00
\$ 0.0714			\$3.93	50	\$ 0.0786		BOX	\$3.49	50	\$ 0.0698	\$ 6.9800	BOX	\$4.39	50	See 0.0878	S 400 87800	BOX	\$7.00	50	\$_0.1400	\$ 14.00
\$ 1.5202	\$ 42.5647		\$2.30		\$ 2.3000			NO BID		#VALUE!	#VALUE!	BOX	\$17.17			1\$ 48:0760		\$7.60	20	\$ 0.3800	
\$ 4.8900			\$4.25		\$ 4.2500			\$38.90	10	\$ 3.8900	\$ 54.4600	KIT	\$4.19			1.1 000058:6600		\$6.12	1	\$ 6.1200 \$ 0.5300	\$ 85.68 \$ 7.42
\$ 0.7080	\$ 9.9120	BOX	\$16.10	15	\$ 1.0733	\$ 15.0267	BOX	\$9.99	15	\$ 0.6660	\$ 9.3240	CASE	\$25.15	50	1	15	LASE	\$26.50	50	\$ 0.5300	\$ (.42
		CASE OF	:	1			1	1				1		1							
\$ 0.0460	\$ 0.6435	PAIRS	\$18.25	150	\$ 0.1217	\$ 1.7033	BOX	\$7.00	100	\$ 0.0700	\$ 0.9800	BOX	\$4.58	50		S. AND		\$7.00	100	\$ 0.0700	\$ 0.98
\$ 0.3540		EACH	\$0.27	7 1	\$ 0.2700		CASE	\$29.00	200	\$ 0.1450	\$ 4.0600	BOX	\$89.95	100		******25:1860		\$20.00	200	\$ 0.1000	\$ 2.80
\$ 4.4550	\$ 222.7500		\$4.25		\$ 4.2500	\$ 212.5000	ļ	NO BID		#VALUE!	#VALUEI	ļ	NO BID			WWWVALUE!		\$3.71		\$ 3.7100	
#VALUEI \$ 3.1500	#VALUE! \$ 31.5000	EACH	\$0.00	<u></u>	\$ 2,5000	\$ -	вох	NO BID \$54.75	25	#VALUE! \$ 2,1900	#VALUE! \$ 21,9000	EACH	NO BID \$1.60			304#VALUE!		\$1.90	<u>1</u>	\$ 1.9000 \$ 0.8000	\$ 26.60 \$ 8.00
24 0.1500			92.3C	Report		5 470.80				4 2.1900				a this set		\$ 34 4 511746					\$ 409.20
\$ 0.3100		EACH	\$0.26	and the second s	\$ 0.2800			\$19.19	50		\$ 3.8380	EACH	\$0.79		\$ 0.7900			\$0.80	1		\$90.99 H8.00
\$ 4.2400	\$ 42.4000		\$4.00		\$ 4,0000		EACH	\$4.89	1	\$ 4.8900	\$ 48.9000	EACH	\$3.98	1	\$ 3.9800			\$3.86	1		1\$
\$ 6.1300	\$ 122.6000		\$5.48		\$ 5.4800	\$ 109.6000	ļ	NO BID		#VALUE!	#VALUE!	EACH	\$6.18		\$ 0.6180			\$0.74			151000014.80
\$ 1.7500 \$ 1.7500		EACH	\$1.74		\$ 1.7400			NO BID		#VALUE! #VALUE!	#VALUE! #VALUE!	EACH	\$1.79		\$ 1.7900 \$ 1.7900			\$2.01 \$2.01	1		State 40.20
\$ 1.7500			\$0.4		\$ 0.4100			\$7,99	50	\$ 0,1598	#VALUE!	EACH	\$1.79		\$ 0.4800		EACH	\$0.41	1		\$46 30 8.20
\$ 0,1700			\$0.3		\$ 0.3500		BOX	\$7.99	50	\$ 0,1598	\$ 3.1960	EACH	\$0,21	1	\$ 0.2100	\$ 4.2000	EACH	\$0,21	1	\$990.21007	\$ 854A #4.20
\$ 0,1700			\$0.3		\$ 0.3500			\$7.99	50	\$ 0.1598	\$ 3.1960	EACH	\$0.21		\$ 0.2100		EACH	\$0,21	1		\$16,50 dat 4:20
\$ 0.1700	the second se	EACH	\$0.3		\$ 0.3500			\$7.99	50	\$ 0.1598	\$ 3.1960		\$0.21		\$ 0.2100		EACH	\$0.21	1		\$69448×4.20
\$ 2.6300	\$ 157.8000	LEACH	\$2.5	1_1_	\$ 2.5700	\$ 154.2000	LASE	\$129.90	48	\$ 2.7063	\$ 162.3750	IEACH	\$4.89	<u>1</u>	\$ 4.8900	\$ 293.4000	LEACH	\$2.89	]	1-3 - F-2.8800	\$\$\$173.40

Contract Management Prepared by Dawn Krass

Bid Number NC13-040 Medical Supplies

### Bid Tabulation (Revised November 20, 2013)

	nden Noti	1∃ ()  }	niandiprica XiMipogo			EUCONINA EDF	Con	iROT"	Entented/Bules			CUCUALLY (ED)	Cerriterie ALIA		United Monauto	UNIDER UDITION	Citraily Edi	Contern Iligit	Cantalogy Prileopoly	Uniter Printer	Contraction Contraction	Contailey Sile		Extended &
		13	Sec.				تعنتقنون			m n La		1.111. 1.111.	e a constanta da serie da ser Serie da serie da seri	and the second second	1	Maria - 1	Sec. Bar	A Carlos Carlos	CALLIN.	AT SLOS	الاستانية المراجعة ا المراجعة المراجعة الم	ا، داندانیا بیان در مرد در مرد نو م	distanting of the second	
\$	0.7500	\$	45.0000	EACH	\$0.72	1	\$ 0	0.7200	\$ 43,2000	CASE	\$34.19	50	\$ 0.6838	\$ 41.0280	EACH	\$0.73	1	\$ 0.7300	\$ 43.8000	EACH	\$0,74	1	15 期間 0)740014	GEEL244:40
\$	0.3600	\$	21.6000	EACH	\$0.37	1	\$ (	3.3700	\$ 22.2000	CASE	\$21,19	50	\$ 0.4238	\$ 25.4280	EACH	\$0.34	1	\$ 0.3400	\$ 20,4000		\$0.48	1	13,000,000	S 60 28.80
物的	MACAN	1.5%		CONSERVATION OF THE PARTY OF TH		大学の学校会	<b>NORM</b>	金金塔	\$103.80	· · · · · · · · · · · · · · · · · · ·	*****	Stiends H	and the state of the state of	<b>時代#VALUE</b> I第	如常教育和	などの学生	Sector March	and the second second	\$2.00 \$125.96					SHARW 83:101
\$	3.2900		65.8000		\$3.15			3.1500	\$ 63.0000		NO BID		#VALUE!	#VALUE!	EACH	\$3.89	1	\$ 3.8900			\$2.70	. 1	\$ 27000	
\$	0.2030		12,1800		\$0.20			0.2000	\$ 12.0000		NO BID		#VALUE!	#VALUE!	BOX	\$10.09	100	\$ 0.1009			\$6.50	50		\$ 88.000 7.80
\$	0.4768		28.6080		\$10.50	25		0.4200	\$ 25.2000		NO BID		#VALUE!	#VALUE!	BOX	\$13.45	25	\$ 0.5380	\$ 32.2800		\$16.00	50	6 0.3200	
\$	0.1777	1\$	5.3310	EACH	\$0.12	1	\$ (	0.1200	\$ 3.6000		NO BID		#VALUE!	#VALUE!	BOX	\$32.75	100	\$ 0.3275	\$ 9.8250	BOX	\$7.00	100	\$240.07001	S1000002110
20		6 . \$ m	a#1;717:06i	Differences	二、美学学生の	编制和假设的	15.3077	A VISE	\$ smith 795.25	<b>ROMAN STA</b>	6 法国际的名称	1.00 Banking	<b>新兴的资源的</b> 资源	<b>A##VALUE</b> ]得	Britan Balante	業で変更な	STATES AND A	South States	\$ 1:637.60	A BOOM AND A	4 名の名の	12.2	教育会会会会ない	\$ MA1;670,50 N
\$	0.4112		1,644.8000		\$0.43			0.4300	\$ 1,720.0000		NO BID		#VALUE!	#VALUE!	BOX	\$40.94	100	\$ 0.4094	\$ 1,637.6000		\$40.00	100	\$ 0.4000	\$ 1,600.00
\$	0.4519		22.5925		\$46.97			0.4697			NO BID		#VALUE!	#VALUE!		NO BID		#VALUE!	#VALUE!	BOX	\$44.00	100	\$ 0.4400	
\$	0.4816		24.0813		\$50.25			0.5025	\$ 25,1250		NO BID		#VALUE!	#VALUEI		NO BID		#VALUE!	#VALUE!	BOX	\$47.00	100	\$ 0.4700	
\$	0.5116	1\$	25.5813	BOX	\$53,28	100	\$ (	0.5328	\$ 26.6400		NO BID	I	#VALUE!	#VALUE!	L	NO BID		#VALUEI	#VALUE!	BOX	\$50.00	100	\$ 0.5000	\$ 25.00

### ATTACHMENT "A" - TECHNICAL SPECIFICATIONS

- 1. The successful bidder shall extend these prices to any other county, or any agency within Nassau County, upon request of the using agency.
- 2. When there is a specific item description and / or specific brand requested no substitutes will be accepted.
- 3. Attached is the list of required items for agencies involved.
- 4. The bidders shall make all products available for review and approval upon request prior to acceptance of the bid or products.
- 5. Any backordered item shall be fulfilled within 14 calendar days from the date of the back-order; otherwise the backordered items will be canceled and procured from other sources.
- 6. Nassau County reserves the right to award the bid per item or as a group.
- 7. Bid prices shall be binding, with the county reserving the right to buy additional items for a period of two years.
- 8. No Latex containing product will be accepted without specific written • agreement.
- 9. Unless otherwise specified, all equipment bid shall be engineered to avoid needle sticks or self sheathing. This includes all needles, IV Catheters, Scalpels.
- 10. All pre-filled medication shall be compliant with the Baxter Interlink administration system.
- 11. Any item(s) marked with "\*" requires a sample be submitted for review.
- 12. Delivery of all items should be expected within 5 work days from receipt of order by the vendor. Any item(s) requiring longer than 5 days shall be communicated in written format to Tactical Support; Nassau County Fire Rescue.
- 13. All bid information shall be contained on the bid price sheet provided. Any explanation shall be made on separate paper with the item specified.
- 14. There is no requirement to bid on all items, nor is there minimum number of items required to be bid upon.
- 15. All pharmaceuticals will be awarded as a group bid. This will include lines 216 249.

ACORD'	

## **CERTIFICATE OF LIABILITY INSURANCE**

OP ID: CK

_	11/05/13													
	THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.													
tt	IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).													
PRO	DUCER		ilon.	Phone: 919-781-0200	CONTA NAME:	េរ								
	pre & Johnson Agency Box 17867			Fax: 919-582-1999	9 PHONE 9 AUC, No, Ext); (AUC, No):									
Rak	eigh, NC 27619				ADDRESS;									
Enc	: I Stevens				PRODUCER CUSTOMER ID #: SOUTH-8									
						NAIC #								
INSL	RED Southeastern Emergency	1			INSURE									
	Equipment Company C&N Real Estate LLC				INSURE	32700								
	Donald Pleasants				INSURE	RC;		10.07-0.0000.00-0-00-01-0-0-00-0-0-0-0-0-0-0-						
	P.O. Box 1097				INSURE									
	Youngsville, NC 27596				INSURE			A						
		TICLO		NUMBER:	INSURE	RF:		ODJON NUMOCO.						
					VF RFF	N ISSUED TO		REVISION NUMBER:	HE POI	ICY PERIOD				
IN C	THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.													
INSR LTR		ADDL				POLICY EFF (MM/DD/YYYY)	POLICY EXP	LIMIT	8					
	GENERAL LIABILITY							EACH OCCURRENCE	\$	1,000,000				
A	X COMMERCIAL GENERAL LIABILITY			37105696EUC		06/18/13	06/18/14	DAMAGE TO RENTED PREMISES (Ea occurrence)	\$	1,000,000				
	CLAIMS-MADE X OCCUR							MED EXP (Any one person)	\$	10,000				
								PERSONAL & ADV INJURY	\$	1,000,000				
								GENERAL AGGREGATE	\$	2,000,000				
	GEN'L AGGREGATE LIMIT APPLIES PER							PRODUCTS - COMP/OP AGG	\$	Excluded				
	X POLICY PRO- JECT LOC							Empl Ben. Combined Single Limit	\$	1,000,000				
								(Ea accident)	\$					
								BODILY INJURY (Per person)	\$					
	ALL OWNED AUTOS SCHEDULED AUTOS							BODILY INJURY (Per accident)	\$					
	HIRED AUTOS							PROPERTY DAMAGE (Per accident)	\$					
	NON-OWNED AUTOS								\$					
ł									\$					
	X UMBRELLA LIAB X OCCUR							EACH OCCURRENCE	ş	1,000,000				
I.	EXCESS LIAB CLAIMS-MADE			20000000		06/18/13	06/18/14	AGGREGATE	\$	1,000,000				
A	DEDUCTIBLE			79883938		00/10/13	U0/10/14		\$	Exic Produc				
	X RETENTION \$ 0								\$					
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY Y/N							WC STATU- OTH- TORY LIMITS ER						
l	ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED?	N/A						E.L. EACH ACCIDENT	\$					
Í	(Mandatory in NH) If yes, describe under							E.L. DISEASE - EA EMPLOYEE						
-	DESCRIPTION OF OPERATIONS below Products Completed		-	70206896RBO		06/18/13	06/18/14	E.L. DISEASE - POLICY LIMIT	\$	2,000,000				
Α	Operations			102000000000		00/10/15	00/10/14	Liability		2,000,000				
DES		ES 14	tarin 4	CORD 101. Additional Pamarka C	chedule i	f more space is o	equired							
Cou add per Con Bid	for not of Nassau, its officia litional insured as respect formed by or on behalf of tract Number: CM2045 Number: NC13-040	ls, s to the	emp th Cou	loyees and volunt le liability arisi mty of Nassau.	eers ng ou	are liste t of acti	d as ivities							
					CANCELLATION									
	Nassau County	~ 6			CANCELLATION SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.									
	96135 Nassau Place, Suit Yulee, FL 32097	æ 0			AUTHORIZED REPRESENTATIVE Eric I Stevens									

© 1988-2009 ACORD CORPORATION. All rights reserved.